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CHAPTER 1



Verbal Diagnostic Test


In This Chapter:


•Verbal Diagnostic Test


•Verbal Diagnostic Test Answers










CHAPTER 1 Verbal Diagnostic Test



The following diagnostic test models an authentic ETS GRE verbal section—specifically, the second 15-question adaptive section. The question format and order mimic what you’d find on an official test. If you aren’t yet familiar with the different question types used on the GRE, head to ets.org/gre to take a look at examples or use the free online Manhattan Prep GRE Starter Kit before you take this diagnostic test. Aim to comprehend just the basics of the exam and know the goal of each question type, but do not practice extensively before taking this diagnostic. The intent of this diagnostic is to understand your starting proficiencies so that you can use this information to shape the rest of your studies.


Take this diagnostic test section under official test conditions. Ideally, use a timer that is not part of your phone or other communication device (and put all of those devices in a different room). If you must use a timer that is part of a communication device, turn off all notifications or put the device on Airplane Mode or Do Not Disturb.


Hold yourself to the given time limit for each section. If you have been approved for 25%, 50% or 100% extended time, use the appropriate extended time limit given. If you have not yet been approved for extended time, study using the standard time limit until you get approved (just in case).


Complete the entire section in one sitting. Don’t run to the bathroom or quickly respond to that text you just received. You can’t do these things while taking the real test, either!


Finally, when your timer dings, you’re done. On the real test, when the timer runs out, that’s it; the test will cut you off. Later, you can retry problems to your heart’s content. But, the first time, hold yourself to the real-test standard: Have all of your answers written down before your timer dings.


Ready? Good luck!


15 Questions


Standard (1x) Time: 23 minutes


25% Extended (1.25x) Time: 28.75 minutes


50% Extended (1.5x) Time: 34.5 minutes


100% Extended (2x) Time: 46 minutes


For each of Questions 1 to 4, select one entry for each blank from the corresponding column of choices. Fill in the blank in the way that best completes the text.


1.In interviews, despots are often surprisingly ________; this helps to explain how seemingly awful people are able to command so many followers.
















	

malign









	

indignant









	

forgiving









	

personable









	

munificent















2.The successful tech company faces an ironic problem in the fall quarter; people are so excited about the next (i) ________ of its product, which will be released over the holidays, that they refuse to purchase the (ii) ________ version.




















	

Blank (i)




	

	

Blank (ii)









	

ingenuity




	

	

obsolete









	

implication




	

	

current









	

iteration




	

	

practical















3.Newborn babies are perfectly (i) ________, as yet unable to be concerned for others, or even to understand a difference between themselves and the world around them. As young children mature, they make the (ii) ________ discovery that other people exist and have their own needs and desires—in other words, that the entire world is not about them.




















	

Blank (i)




	

	

Blank (ii)









	

solipsistic




	

	

arresting









	

sophomoric




	

	

selfish









	

quixotic




	

	

undue















4.His theory purported that “proper” enjoyment of art was a matter of pure aesthetics—it is surely, he says, a baser pleasure being enjoyed by the untrained (i) ________, the museum “tourist” with (ii) ________ sensibilities, and even the art theorists and art historians who simply appreciate cultural referents or narratives in art, a predilection he thinks leads to (iii) ________ view of any art that includes such elements.
























	

Blank (i)




	

	

Blank (ii)




	

	

Blank (iii)









	

cabal




	

	

incendiary




	

	

a facile









	

literati




	

	

parochial




	

	

an urbane









	

hoi-polloi




	

	

dulcet




	

	

a painstaking















Question 5 is based on the following reading passage.


During an economic depression, it is common for food prices to increase even as incomes decrease. Surprisingly, however, researchers determined that during a depression, for every 5% increase in the cost of bread, the lowest socioeconomic class actually increases the amount of bread purchased per capita by 3%.


5.Which of the following hypotheses best accounts for the researchers’ findings?


[image: ]Not all food costs increase during a depression; some food items actually become less expensive.


[image: ]Because bread consumption does not increase by the same percentage as the cost does, people are likely consuming more of other food items to compensate.


[image: ]When incomes decrease, people are typically forced to spend a larger proportion of their income on basic needs, such as food and housing.


[image: ]People who suddenly cannot afford more expensive foods, such as meat, must compensate by consuming more inexpensive foods, such as grains.


[image: ]During a depression, people in the lowest socioeconomic class will continue to spend the same amount of money on food as they did before the depression began.


Question 6 is based on the following reading passage.


Bedbug infestations have been a problem in major cities for years. The pesticide DDT has been found to be useful in killing bedbugs. However, DDT was banned in the United States and has been replaced by weaker pesticides. Thus, there is no effective means for eradicating bedbugs in the United States.


6.Which of the following, if true, most weakens the conclusion?


[image: ]Bedbugs resemble other small insects in their appearance and behavior.


[image: ]Bedbugs have largely been eradicated in other parts of the world.


[image: ]Some treatments that do not include DDT have proven effective against bedbugs in other parts of the world.


[image: ]Bedbugs are resistant to the types of pesticides used to treat cockroach and ant infestations.


[image: ]The number of bedbug infestations has risen significantly in the 21st century.


Questions 7 to 9 are based on the following reading passage.


Dan Flavin’s alternate diagonals of March 2, 1964 (to Don Judd), an 8-foot-long diagonal beam of light set at a 45-degree angle, is a colorful sculpture of light that is visually arresting, even from across the room. As one approaches the work, it is difficult not to become almost blinded by the intensity of the light and the vivacity of the colors. Though it may strike one as 5 garish at first glance, a more lengthy perusal reveals a delicate interplay between the red and yellow beams, giving the work a visual richness.


Alternate diagonals was made by Flavin in response to one of his own previous works, the diagonal of May 25, 1963 (to Constantin Brancusi). His first piece composed solely of light, the diagonal of May 25, 1963 was also an 8-foot-long fluorescent light sculpture (though Flavin never 10 liked to call them sculptures—he referred to them as “situations”) hung at a 45-degree angle, and also included a yellow fluorescent light tube. Alternate diagonals seems almost more of an evolution of the former work than a response to it, but regardless of the exact nature of the intended interplay between the two, it is important to frame alternate diagonals as a companion work.


15 Alternate diagonals is known as a ready-made, a work of art composed entirely of objects that anyone could find and put together as the artist has. This is precisely what is so intriguing about the work—it toys with the boundaries of what we can define as a ready-made in contemporary art and, perhaps, within the field of art production itself. It forces a spectrum to be employed instead of a black-and-white categorization of the ready-made—a spectrum 20 stretching between the “pure” ready-made (any work that essentially could be transferred straight from anyone’s garage to a gallery, such as Duchamp’s Bottle Rack), all the way to a contemporary two-dimensional work where the artist’s canvas and paints were purchased from an art supply store in an infinitely more manipulated but still semi-ready-made fashion. Flavin’s piece, it seems, is situated somewhere in the center of such a spectrum, and raises the 25 question of where the “ready” ends and the “made” begins.


7.The main point of the passage is to


[image: ]assert the superiority of ready-made art


[image: ]decry the broadening of the definition of art


[image: ]discuss a work in context and its effect on the discipline


[image: ]explain the relationship between two works of art


[image: ]praise an artist and his creations


8.According to the passage, both “diagonal” works could best be described as


[image: ]using red and yellow light


[image: ]initially striking the viewer as garish


[image: ]toying with boundaries of art


[image: ]running through the plane at a particular slope


[image: ]identical in concept


9.The passage implies which of the following?


[image: ]Conventional two-dimensional work is a thing of the past.


[image: ]Flavin is one of the most important artists of his time.


[image: ]Bottle Rack has very little artistic manipulation.


[image: ]Flavin disliked the word “sculpture” because of the Renaissance association.


[image: ]The best artwork is in the center of the artistic spectrum of art production.


For each of Questions 10 to 12, select the two answer choices that, when used to complete the sentence, fit the meaning of the sentence as a whole and produce completed sentences that are alike in meaning.


10.Many young employees actively seek out mentors, but when managers attempt to mentor young employees who have not sought out mentoring, the help often comes across as presumptuous and ________.


[image: ]baneful


[image: ]noxious


[image: ]patronizing


[image: ]amenable


[image: ]pragmatic


[image: ]condescending


11.In previous decades, it was simply assumed that fathers of young children would work full-time and at the same intensity as they did before becoming parents, but today, increasing numbers of men—wanting to further their careers but also wanting to spend time with their children—are more ________ about this arrangement.


[image: ]stolid


[image: ]ambiguous


[image: ]whimsical


[image: ]ambivalent


[image: ]equivocal


[image: ]officious


12.The slipstream is a partial vacuum created in the wake of a moving vehicle that allows for “drafting,” whereby a racecar can ________ another and win the race by taking advantage of reduced wind resistance.


[image: ]supersede


[image: ]assume


[image: ]overtake


[image: ]champion


[image: ]collide


[image: ]outstrip


Questions 13 and 14 are based on the following reading passage.


In keeping with the notable incorporation of operatic elements into the rock music lexicon, the genre in the 1970s experienced a significant shift in emphasis away from recording and toward music performance itself. Several factors effected this change. First, the extended length and the moralizing subject matter of songs of the era rendered them less appropriate for radio play and more suitable 5 for public presentation. Additionally, the advent of the concept album, in which multiple tracks revolved around a single unifying narrative or theme, furnished a basis upon which similarly calibrated performances could be enacted. Finally, as PA system technology improved, it became possible to hold concerts with 100,000 people or more, which encouraged artists to craft concerts that diverged from the merely musical toward the experiential. Bands began conceiving of their performances 10 as shows, more akin to musical theater guided by plot and setting than to the traditional concert guided by the omnipresent set-list. Instead of simply playing one song after another, therefore, bands developed full performance medleys revolving around specific motifs, and punctuated by bombastic light shows, costume changes, and other massive stunts. For example, the popular British band Pink Floyd famously built a barrier in the middle of the stage during one performance and then had it 15 dramatically knocked down mid-show as a promotion for their new album The Wall.


13.The passage cites all of the following as reasons for the inclusion of operatic elements into the rock music genre in the 1970s EXCEPT:


[image: ]Changes in concert equipment changed the way shows could be delivered.


[image: ]Pink Floyd’s dramatic staging served to promote an influential album.


[image: ]Shifts in the content of the music contributed to the songs having a more “story-telling” quality.


[image: ]One medium through which rock songs had typically been delivered to the public became less conducive to the genre.


[image: ]Artists altered their performances to reflect changes in the modern concert ambiance.


14.In the context of the passage, the word “effected” (line 3) most nearly means


[image: ]influenced


[image: ]moved forward


[image: ]transformed


[image: ]determined


[image: ]brought about


Questions 15 is based on the following reading passage.


In 1977, the Community Reinvestment Act (CRA) was passed for the purpose of reducing discriminatory credit practices in low-income neighborhoods. The act required Federal financing supervisory agencies to use their authority to encourage lending institutions to meet the credit needs of all borrowers in their communities. The CRA had little impact until 1993, 5 when the Department of Housing and Urban Development (HUD) initiated legal proceedings against lenders who declined too many applications from minority borrowers.


Some argue that, while providing equal access to credit is an important aim, pressure on lenders from HUD led to practices that later caused those same lenders to be assailed as “predatory.” In Housing Boom and Bust, economist Thomas Sowell wrote that the CRA, far from 10 being as benign as it appeared, was based on a flawed assumption: that government officials were qualified to tell banks how to lend the money entrusted to them by depositors and investors.


Consider each of the answer choices separately and indicate all that apply.


15.It can be inferred from the passage that


[image: ]the CRA was perceived by some as seemingly innocuous


[image: ]HUD had the ability to affect banking practices


[image: ]Thomas Sowell had asserted that a certain level of expertise is required to direct banks’ lending activities



Analyze Your Performance


Before you check your answers (you’ll get to that soon, we promise!), take a couple of minutes to think about how this test section felt qualitatively. Answer these nine questions:


Time management:


1.Did you feel like you allocated your time relatively well among the problems? Or did you find yourself running ahead or behind?


2.Did you run out of time before finishing the diagnostic? Glance back at the problems. Where do you think you spent the most time? Note down those problem numbers.


3.Alternatively, did you finish really early? Where do you think you rushed the most? Why? Note that down.


Glance back over the problems:


4.Where did you feel confident? Give those problems a smiley face on your scratch paper.


5.Where did you not feel confident, even though you did answer the problem? Give those problems a frowny face.


6.Where are you sure that you felt lost? Give those problems an X.


(Yes, do this before you know whether you got them right or wrong! You’ll learn why in a bit.)


Finally, think about the decisions that you made as you worked your way through the section:


7.Did you spend extra time on a particular problem but wouldn’t choose to do that again next time? Why was that problem ultimately not worth extra time? Note that down on your scratch paper.


8.Did you cut a problem off quickly but wish now that you had spent a little more time? If so, go ahead and try that problem again now.


9.Did you attempt a problem one way but now wish you’d tried a different approach? If so, try that different approach right now.


Okay, now it’s time to score your test section. (Note: If you retried any problems, use your original answer when scoring your test.) You’ll then combine your qualitative analysis with the quantitative analysis to figure out how to prioritize your studies.



Analyze Your Work


As you review the problems in this diagnostic test, classify each one into one of the following categories. (Use the table just after the list to keep track of your classifications.)


If you answered correctly:


1.I legitimately answered correctly and didn’t take too long.


2.I legitimately answered correctly but felt like it took a long time.


3.I randomly guessed on this problem or otherwise got lucky.


Note: If you narrowed down to two or three answers before making a guess, then you made an educated guess. An educated guess is a legitimate answer (category 1 or 2), not a random guess (category 3). Include “I made a mistake and should have gotten this wrong, but got lucky because my mistake led me to the right answer anyway” in category 3.


For all category-3 problems, add a second classification, as described in the next list.


If you answered incorrectly or labeled something as category 3:


4.I made a careless mistake or misread something, but I would have answered correctly otherwise.


5.My original thinking was incorrect but I understand the logic now.


6.My original thinking was incorrect and I still don’t understand the logic now.


7.I guessed quickly on purpose and would do so again next time.


8.I guessed quickly on purpose but, in hindsight, I might have been able to get it; next time, I’d try this one.


Use this table to classify the problems. After you assign the problem to one of the categories (1 through 8), mark that problem as correct (categories 1 and 2), incorrect (categories 4 through 8), or both (category 3).


[image: ]


Here’s how to prioritize each category of your analysis from now until your next practice test:


















	

#




	

Analysis Category




	

Prioritize or deprioritize?









	

1




	

Correct, time ok




	

This is a strength! Deprioritize. Spend the majority of your study time elsewhere.









	

2




	

Correct, time too long




	

This is pretty close to a strength. Prioritize figuring out how to improve your efficiency (including other possible approaches, not just doing steps faster).









	

3




	

Got lucky




	

Reclassify as 4, 5, 6, 7, or 8 and proceed accordingly.









	

4




	

Careless mistake




	

Prioritize figuring out how to minimize this type of mistake in future.









	

5




	

Wrong but get it now




	

Prioritize this question subtype (e.g., Weaken the Conclusion, or three-blank Text Completion) or content area (e.g., physics or astronomy-based Reading Comprehension passages), or both.









	

6




	

Wrong and still don’t get it




	

Figure out what isn’t working for you and deprioritize accordingly, ideally pinpointing a particular problem subtype or content area.









	

7




	

Guessed on purpose; right call




	

Deprioritize this question subtype or content area (or both) from now until your next practice test.









	

8




	

Guessed on purpose; should have tried it




	

Prioritize this question subtype or content area (or both) from now until your next practice test.












Most people hesitate to put more than a couple of things in their Deprioritize bucket. Ideally, though, you want your Prioritize and Deprioritize buckets to be about the same size—you can’t do everything at once!


When you deprioritize something, you’re only doing so between now and your next practice test. After your next test, you’ll analyze your new data, and two things will happen. First, some of the things that you prioritized last time will turn into strengths and no longer need to be prioritized. That will make room in your Prioritize bucket for you to add new things—so, second, you can move some of your former Deprioritize categories up into your Prioritize bucket.


This cycle will keep happening as you continue to make progress in your studies. By the time you get to the real test, you won’t have very many things left in your Deprioritize bucket. (But you will still have some. Everyone has strengths and weaknesses; that’s 100% expected. Going into your real test, you’ll use your Deprioritize bucket to know when to guess quickly and move on.)


To get a sense of your initial scoring range on the Verbal section of the GRE, count your number correct including category 3. Then, look up the number correct in this table:
















	

Raw Verbal Score




	

Verbal Reasoning Diagnostic Scaled Score









	

12–15




	

162–170









	

9–11




	

154–161









	

6–8




	

147–153









	

3–5




	

137–146









	

0–2




	

130–136












NOTES:


Diagnostic Scaled Score is directionally accurate but only approximate.





(a)If you spent more time on this diagnostic section than you will be allowed on the real GRE, then your performance may be artificially inflated.


(b)Your Scaled Score depends not only on how many questions were answered correctly (Raw Score), but also on the overall difficulty of the set of questions. This diagnostic test approximates the difficulty of the first Verbal section of an official GRE® revised General Test. On the official exam, you will complete two Verbal sections in order to receive a more precise Verbal section score.


Use this score approximation to help set a realistic study timeframe for yourself. Generally speaking, if you want to improve by 10 or more points, you will likely need at least several months of study. In addition, generally speaking, if you want to improve from below 165 to close to 170, you will also likely need several months of study. (It typically takes more time to lift from 165 to 170 than from 155 to 160.)



Next Steps


What do you do with all of this analysis? First, let’s start with your Legitimately Correct Score, aka the number that you categorized as 1 or 2 during your analysis. (Consider category 3 incorrect for this count.)
















	

If your Legitimately Correct Score is:




	

Then:









	

0 to 6




	

Refresh all of your verbal fundamentals.




	Consider using a starter-level word list or flash cards, such as Manhattan Prep’s 500 Essential Words, as well as Unit 1 of our GRE All the Verbal guide.


	Train your reading skills using the Foundational-level suggestions presented later in this chapter.


	Need more? Keep going with our GRE All the Verbal guide, starting from Unit 1.












	

7 to 10




	

Refresh your verbal fundamentals as needed.




	Make a list of the specific content areas that gave you trouble. Train these areas using Chapters 3, 4, 5, or 6 of this book.


	Train your reading skills using the Advanced-level suggestions presented later in this chapter.


	Need more? Also complete Unit 1 of our GRE All the Verbal guide, focusing on the areas you identified as weaknesses.












	

11 to 15




	

Your fundamentals are solid.




	Consider using a high-level word list or flash cards, such as Manhattan Prep’s 500 Advanced Words.


	Identify a set of books or other resources that can teach you the higher-level content needed to earn a top GRE score.


	As you learn that material, use your 5 lb. Book of GRE Practice Problems to drill your skills and practice working accurately and efficiently on test day.


	Need help on more advanced content? Manhattan Prep’s GRE All the Verbal guide covers all of the verbal material tested on the GRE.















Also, look for trends among that data. For example, if you missed more Sentence Equivalence than anything else, you may need to develop the synonym aspect of your vocabulary. Alternatively, if you handled the standard Reading Comprehension problems well, but struggled with Argument-Based Reading Comprehension, you’ll want to prioritize Chapter 6.


Finally, here are some possible next steps for each problem analysis category:


















	

#




	

Analysis Category




	

What next?









	

1




	

Correct, time ok




	

Practice periodically to keep your skills up.









	

2




	

Correct, time too long




	

Figure out how to improve your efficiency (including other possible approaches, not just doing steps faster). Practice those approaches until they become habits.









	

3




	

Got lucky




	

Consider this an incorrect answer and reclassify as 4, 5, 6, 7, or 8.









	

4




	

Careless mistake




	

What mistake did you make? Why did you make it? What new habit can you build or practice to reduce the chances of making that type of mistake in the future?









	

5




	

Wrong but get it now




	

Review lessons/study materials that teach you about this content area, skill, or problem type. Use 5 lb. drills/practice problems to reinforce the skills you’re learning.









	

6




	

Wrong and still don’t get it




	

Deprioritize for now.









	

7




	

Guessed on purpose; right call




	

Deprioritize for now.









	

8




	

Guessed on purpose; should have tried it




	

Review lessons/study materials that teach you about this content area, skill, or problem type. Do you still think that you’d want to try this next time? If not, move this to your Deprioritize bucket. If so, use 5 lb. drills/practice problems to reinforce the skills you’re learning.












Every time you do another practice test, practice section, or problem set, analyze the problems with this framework in mind. Then, make the call as to whether you want to prioritize or deprioritize this material from now to your next practice test—and take steps accordingly.


Refine Your Study Plan


Now that you have a general plan of what to prioritize, use the following guidelines to augment your studies and further triage how to best spend your time.


On the Verbal Section, the question formats can be sorted generally into two main groups:




















	

Question Format




	

Goal




	

Diagnostic Test Questions









	

Vocabulary




	

Fill in the blank with a word or short expression




	

Text Completions (TC): #1–4


Sentence Equivalence (SE): #10–12









	

Reading Comprehension




	

Read a passage and answer a variety of questions




	

Reading Comprehension (RC): #7–9, #13–15


Argument-Based RC: #5–6















If you missed considerably more of one type versus another, it may be wise to focus your studies on that particular area. But a word of caution—RC questions can just as easily prioritize vocab, as seen in question #14. Likewise, the vocabulary questions, particularly the lengthy triple-blank TC problems seen in question #4, may ultimately challenge your comprehension skills more than your vocabulary. As you review, articulate to yourself why you missed something. Both comprehension and vocabulary are tested extensively throughout the Verbal Section; you’ll want to improve both throughout your studies.


Naturally, the next question is: How can you best improve these skills?


Errors on the vocabulary questions (TC and SE) can be broadly categorized into two types:
















	

Vocab mistakes




	

Not knowing the word or mixing it up with a similar word









	

Comprehension mistakes




	

Misunderstanding the sentence, causing you to select words that differ from the intended meaning












Minimizing Vocabulary Mistakes


The optimal way to drill vocab mistakes is to utilize the tried-and-true method of flash cards. The convenience offered by digital flash cards and apps (such as vocabulary.com and ankiweb.net) is great and can allow for studying in situations where you otherwise would not be able to. However, creating your own flash cards by hand will provide the best memory retention. Try both methods and decide which one is best for you (or use both!).


Avoid “traditional” flash card styles that consist solely of a word and its definition. The more associations you attach to a word, the easier it will be to recall. Aim to complete your flash cards with:


1.A definition constructed in your own words


2.Simple synonyms (the kinds of words a 5th grader would know)


3.Complex synonyms (the kinds of words the GRE may pair with another word on Sentence Equivalence questions)


4.The charge of the word (positive, negative, or neutral)


5.A mnemonic device


At its core, a mnemonic is a “memory trick,” and can constitute anything from a rhyme to a visualization to an origin story. For example, minatory means menacing—picture an angry minotaur, the half-man, half-bull of Greek mythological fame. Likewise, diffident may seem like a recondite word—unless you know that it shares a root with a more common word, confident. In fact, diffident and confident are opposites—that is, diffident refers to someone who is timid or self-conscious. Don’t be afraid to get creative with these—the more personal, the better!


Is the word recondite unfamiliar? Try to infer its definition based on the surrounding context, just as you would with an unknown word in a Reading Comprehension passage. Then, look up the word to see how close you got. If you were far off, reread the original context to see whether you can pick up the meaning better now. Finally, make a flash card and start reviewing periodically to ensure the word sticks.



Minimizing Comprehension Mistakes


Some vocabulary mistakes and many RC mistakes boil down to comprehension errors. Work on mitigating comprehension mistakes by practicing the art of reading academic-level materials similar to what you’d find on the GRE. Here are some reading suggestions:
















	

Foundational-level


Caution: Some articles in these texts are written in a popular style that is too easy for the GRE. Read the more challenging articles.




	



	The Atlantic


	The Economist


	The New Yorker


	The New York Times












	

Advanced-level




	



	The Essays & Opinions section of Arts & Letters Daily (website: aldaily.com)


	Scientific American


	
University of Chicago Magazine (website: mag.uchicago.edu)















As you read, try to incorporate active reading strategies. Essentially, you’ll want to weave a thread that connects the present, past, and future of the passage:


•Present: What is the author saying at this very moment?


•Past: How does this connect with what the author mentioned previously?


•Future: Where might the author head next?


Additional Reading Comprehension Strategies


Longer RC passages will typically be accompanied by two to four questions; some shorter passages will have just one question. In addition to using the reading principles outlined above, you can gain an edge on RC questions by familiarizing yourself with the expectations of common question types.


For the most part, reading comprehension questions on the GRE can be grouped into one of two categories: general and specific. General questions typically utilize stems such as:


•The primary purpose of the passage is to. . .


•The author of the passage is primarily concerned with. . .


•Which of the following best states the author’s main point?


On general questions, the goal is to select the answer choice that best encapsulates the essence of the passage. A proper general answer touches upon the full “real estate” of the passage—that is, the correct answer is germane to the beginning, middle, and end. Avoid trap answers that are too narrow in focus; brief details can support the broad goals of the passage but do not by themselves reflect the overall message.


Specific questions tend to be more varied in style. Inference questions are one of the more popular forms. Inference question stems typically incorporate the words suggest, imply, or infer. Compared to inferences made in the real world, GRE inferences tend to be more boring and literal. For example, given the statement “Priya’s hair is wet,” you might infer that it may be raining, or perhaps Priya just took a shower. These things could be true, but they would not suffice on the GRE. A proper GRE inference must avoid making assumptions—and the original statement has no proof as to how Priya’s hair got wet.


Instead, imagine a GRE inference as a slight “flip” of the given information—something like “Priya’s hair is not dry.” Although unimaginative, it avoids any assumptions, and it is something that must naturally follow the given facts. If Priya’s hair is wet, it must be the case that her hair is not dry.


Detail questions are also quite common on the GRE. Detail questions often employ phrases like:


•The passage states that. . .


•According to the passage. . .


Compared to inference questions, the goal of a detail question is more straightforward. You are looking for direct proof in the passage for one of the answer choices. Use the technique of the “context sandwich.” That is, identify a keyword or phrase within the question stem, then find it within the passage. From there, start one sentence before and read as far as one sentence after the sentence that contains the keyword. The proof for the answer will likely lie somewhere in this context sandwich.


The difficulty of a detail question may be ramped up using the EXCEPT form. For example: “The author discusses all of the following EXCEPT...” Here, use the process of elimination to find proof for four of the answer choices within the passage. The sole remaining answer must be the correct one.


Finally, one format of RC questions is unique compared to the others: Argument-Based RC. These problems utilize shorter, single-paragraph passages that are accompanied by a single question stem. Common setups include:


•The argument assumes which of the following?


•Which of the following pieces of evidence, if true, would most strongly support the argument above?


•Which of the following, if true, most seriously weakens the argument?


•Which of the following most logically completes the argument?


While the solution process is similar to standard RC, Argument-Based RC will expect you to have a working knowledge of the following terms:


•Premises: Facts, opinions, or claims that back up that argument’s conclusion


•Conclusion: The main idea of the argument—what the author is trying to convince you of


•Counter-premises: Facts, opinions, or claims that go against or undermine the argument’s conclusion (may support a counter-conclusion that contrasts with the main conclusion)


•Assumption: Something unstated that must be assumed to be true for the argument to hold


These guidelines are a foundational review of verbal strategies to help you get started in your studies. You can find a more comprehensive investigation of Verbal Section techniques in Manhattan Prep’s GRE All the Verbal book.


Good luck and happy studying!



Verbal Diagnostic Test Answers



1.Personable. The blank “helps to explain how seemingly awful people are able to command so many followers,” so it needs to be a positive word. While both “forgiving” and “munificent,” which mean generous, are positive, both add meaning that isn’t suggested by the given sentence. “Personable,” meaning pleasant in appearance and manner, fits best. “Malign” (evil) and “indignant” (annoyed or angry) are both negative.


2.Iteration, current. This sentence is comparing two “versions” of a product. The first blank requires a synonym of “version,” such as “iteration.” There’s a bit of a theme trap in “ingenuity,” which means innovation or creativity. An “implication” is either an insinuation or a consequence; neither makes sense in this context. The second blank describes a “version” that is contrasting with the “next iteration,” so that would logically be the previous one. “Current” works well here (and “obsolete” is too judgmental; it’s not outdated or out of production yet!). It might be true that the version is “practical,” but the given sentence doesn’t suggest this additional meaning; if anything, “refuse to purchase” disagrees with the idea of a practical version of the product.


3.Solipsistic, arresting. Solipsism is literally the theory that only the self exists or can be known to exist (“solipsistic” is sometimes used a bit figuratively to mean really selfish). Babies could be “sophomoric” (juvenile) or “quixotic” (idealistic or unrealistic), but neither answer choice relates to “unable to be concerned for others, or even to understand a difference between themselves and the world around them.” For the second blank, the “discovery” in question is that “the entire world is not about them.” That’s a pretty earth-shaking discovery for someone who thought otherwise! “Arresting” (striking or dramatic) gets this across. Note the trap answer “selfish,” which is related to the overall meaning of the sentence but does not describe the “discovery.” There is no indication in the sentence that the discovery is “undue” (excessive or unwarranted).


4.Hoi-polloi, parochial, a facile. The theory described is a theory of incredible snobbery! First of all, the person described thinks that there is a “‘proper’ enjoyment of art” (and, presumably, an improper one as well). He thinks that “untrained” people viewing art enjoy only “a baser pleasure,” and calls other people “museum ‘tourists.’” In the first blank, “hoi-polloi” matches the idea of common people, the masses. A “cabal” is a secret political faction, so is unrelated to this sentence. “Literati” are well-educated people who are interested in literature; this is nearly opposite the meaning required in blank (i). The second blank is a description of the “sensibilities” of “the museum ‘tourist,’” and “parochial” matches the idea of ordinary, low-class, unsophisticated. “Incendiary” can literally mean designed to cause fires, or can figuratively mean exciting or provocative. Neither meaning of “incendiary” works here. “Dulcet” means sweet and soothing, and typically refers to sound, not to a noun like “sensibilities.” Finally, “the art theorists and art historians” are thought to have “a facile,” or overly simple, view. The theorist seems to think that only “pure aesthetics” (principles of beauty) should matter; the theorists and historians he disdains are those who like “cultural referents or narratives”—that is, recognizable themes or figures, or stories. Both “an urbane” (suave or sophisticated) and “a painstaking” (meticulous or thorough) are positive, disagreeing with this person’s attitude toward “art theorists and art historians.”


5.(D). This Reading Comprehension question is really a Logic question. Such questions typically consist of a single paragraph with one question. First, analyze the argument: During a depression, it is normal for food prices to increase at the same time that incomes decrease. Logically, this would make it more difficult for people to afford the same food that they used to purchase prior to the depression. A study showed a surprising result, however: when the cost of bread went up during a depression, the poorest people actually bought more bread. Note that the argument doesn’t say merely that more money is spent on bread; that would be expected if the price increased. The argument says that the actual amount of bread purchased increased. The correct answer will explain why people would buy more bread even though the cost has gone up and incomes have declined.


While choice (A) is likely true in the real world, it does not explain why people buy more bread when the cost of bread has increased and incomes have declined. Choice (B) is an example of faulty logic. It is true that the cost increase is a higher percentage than the consumption increase, but this does not mean that people are consuming less bread and therefore need to eat other things to compensate. In fact, the opposite is true: the argument explicitly states that people are buying more bread than they were! Choice (C) is tempting because it talks about people spending a “larger” proportion of income on food—but “proportion” is a value relative only to the person’s income level. It does not indicate that the person is spending more money on a particular thing. More importantly, though, this choice does not answer the question asked. Correct choice (D), in contrast, provides a reason why an increase in the cost of one food item might cause people to consume more of that item despite a loss of income: other food items are even more expensive and are, thus, much less affordable. The people still need some amount of food to survive, so they purchase more of the food item that does not cost as much money. This accounts for the researchers’ findings. Even if choice (E) were true (and this would be difficult if incomes are decreasing), it would not explain why people buy more bread at a time when the bread costs more and incomes are declining.


6.(C). This is a Logic question that asks you to weaken an argument. The author cites a problem: a pesticide that is effective in killing bedbugs is no longer available for use. Thus, the author claims, there is no effective means to kill the bedbugs in the United States. The problem here is that the author makes a very large jump between “replaced by weaker pesticides” and “there is no effective means.” Finding something that attacks this assumption would be a good way to weaken the argument. Regarding choice (A), the behaviors of bedbugs have nothing to do with the ability to eradicate them. Choice (B) does not specify how bedbugs were eradicated in other parts of the world. It is possible that all successful eradications elsewhere relied on DDT.


Correct choice (C) opens up the possibility that there might be an approved means to eradicate the dreaded bedbug in the United States. It also calls the author’s conclusion about there being “no effective means for eradicating bedbugs in the United States” into question. Choice (D), though largely out of scope, might be viewed as strengthening the author’s conclusion, as it points to more evidence that existing pesticides are not effective on bedbugs. However, eliminating one possibility is not the same as eliminating all possibilities, which is what the author does in the conclusion. As for choice (E), the number of infestations has nothing to do with the ability to eliminate bedbugs in the United States.


7.(C). After describing Flavin’s work, the author compares it to another work in the second paragraph, then goes on to discuss its effect on the definitions of a type of art. Choice (A) is a distortion as “superiority” is not mentioned. Choice (B), if anything, is backwards, as the author seems to approve of the broadening. Choices (D) and (E) ignore the significant part of the passage that discusses the broadening of definitions.


8.(D). Both works are said to be set at 45-degree angles (thus, “at a particular slope,” which incidentally would happen to be 1 or −1). Choices (A), (B), and (C) are only explicitly mentioned in connection with alternate diagonals. Choice (E) is incorrect, as the concept of the works is not discussed; furthermore, the author writes “Alternate diagonals seems almost more of an evolution of the former work than a response to it.” If the second work is an “evolution,” the two works cannot be “identical.”


9.(C). Choice (C) must be true as the author cites Bottle Rack as an example of the extreme end of the ready-made spectrum, and contrasts it with a type of “infinitely more manipulated” work. As for choice (A), the passage only mentions such conventional work in passing and does not predict its future. The passage does not rank Flavin, as choice (B) suggests, nor does it explain why he disliked the word “sculpture” for his works, as choice (D) does. Similarly, the passage only suggests that Flavin’s work is in the center, not that such location is a virtue—the “best artwork,” as in choice (E).


10.Patronizing, condescending. The blank describes “help” offered by managers to “young employees who have not sought out mentoring.” Furthermore, the help “comes across as presumptuous.” Giving arrogant, unwanted help is “patronizing” or “condescending.” Note that “baneful” (harmful) and “noxious” (poisonous) are similar to each other, but are much too negative. “Amenable,” which means cooperative or compliant, is too positive, and the word generally applies better to people than to a noun like “the help.” Similarly, “pragmatic” (sensible or practical) is both too positive and unpaired with any other choice.


11.Ambivalent, equivocal. Today, some men are “wanting to further their careers but also wanting to spend time with their children,” so their feelings about the traditional working arrangement are mixed or complex. “Ambivalent” and “equivocal” match the idea of mixed feelings. Note trap answer “ambiguous,” which means “unclear” and is more appropriate for describing a situation or statement than a person. The remaining choices are each unpaired: “stolid” means unemotional, “whimsical” has a positive meaning (fanciful or playful) and a negative meaning (capricious or erratic), and “officious” means domineering or intrusive.


12.Overtake, outstrip. The slipstream allows a racecar to “win the race by taking advantage of reduced wind resistance.” In other words, the trailing car would be able to go faster than the car in front of it, and therefore pass it. “Supersede” may look the part, but it’s actually a figurative word meaning replace (e.g., I was superseded by younger workers at my job). Only “outstrip” and “overtake” carry the literal meaning of physically passing something. When X “assumes” Y, X accepts or seizes Y (e.g., a leader assumes power). It’s strange to think of a racecar assuming another racecar. Winning the race may lead people to call the winner the “champion,” but one car does not “champion” another. Similarly, “collide” might make you think of the car crashes that sometimes occur during car races, but a car cannot “collide another.” Rather, a car would collide with another.


13.(B). While it is true that Pink Floyd’s dramatic staging served to promote its album, this is not a “reason for the inclusion of operatic elements into the rock music genre in the 1970s.” It is an example, not a cause. Choice (A) is incorrect because the passage states that PA systems (a type of concert equipment) changed. Choice (C) is incorrect because the passage states that concept albums contained “narrative” themes. Choice (D) is incorrect because the passage states that rock songs were less appropriate for radio play. Choice (E) is incorrect because the passage states that the larger concerts “encouraged artists to craft concerts that diverged from the merely musical toward the experiential.”


14.(E). The passage discusses several phenomena occurring in the 1970s that were in part responsible for “a significant shift in emphasis away from recording and toward music performance itself.” These factors thus “brought about,” or “effected,” this change. Don’t get confused by “influenced,” one synonym of which is “affected.”


15.1st, 2nd, and 3rd. Sowell wrote that the CRA was “far from being as benign as it appeared.” Thus, the CRA “appeared” benign, or “innocuous,” at least to some. The passage states that HUD exerted pressure on lenders, which led to practices that later caused those same lenders to be assailed as “predatory.” Thus, HUD had the ability to affect banking practices. Finally, Sowell argued that the idea “that government officials were qualified to tell banks how to lend” was a “flawed assumption.” If Sowell believed that the government officials were not “qualified” to advise the banks, it follows that some minimum level of expertise is necessary in order to be qualified to do so.
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CHAPTER 2 Quant Diagnostic Test



The following diagnostic test models an authentic ETS GRE quant section—specifically, the second 15-question adaptive section. The question format and order mimic what you’d find on an official test. If you aren’t yet familiar with the different question types used on the GRE, head to ets.org/gre to take a look at examples or use the free online Manhattan Prep GRE Starter Kit before you take this diagnostic test. Aim to comprehend just the basics of the exam and know the goal of each question type, but do not practice extensively before taking this diagnostic. The intent of this diagnostic is to understand your starting proficiencies so that you can use this information to shape the rest of your studies.


Take this diagnostic test section under official test conditions. Ideally, use a timer that is not part of your phone or other communication device (and put all of those devices in a different room). If you must use a timer that is part of a communication device, turn off all notifications or put the device on Airplane Mode or Do Not Disturb.


Hold yourself to the given time limit for each section. If you have been approved for either 50% or 100% extended time, use the appropriate extended time limit given. If you have not yet been approved for extended time, study using the standard time limit until you get approved (just in case).


The GRE allows you to use an on-screen calculator, but its functionality is very limited. In your GRE Starter Kit on the Manhattan Prep website, you can pull up a sample calculator that mimics the official GRE one. Alternatively, if you use your own calculator, use only five functions: add, subtract, multiply, divide, and square root. (Yes, just square root—not square.)


Complete the entire section in one sitting. Don’t run to the bathroom or quickly respond to that text you just received. You can’t do these things while taking the real test, either!


Finally, when your timer dings, you’re done. On the real test, when the timer runs out, that’s it; the test will cut you off. Later, you can retry problems to your heart’s content. But, the first time, hold yourself to the real-test standard: Have all of your answers written down before your timer dings.


Ready? Good luck!


15 Questions


Standard (1x) Time: 26 minutes


25% Extended (1.25x) Time: 32.5 minutes


50% Extended (1.5x) Time: 39 minutes


100% Extended (2x) Time: 52 minutes




For questions in the Quantitative Comparison format (“Quantity A” and “Quantity B” given), the answer choices are always as follows:


[image: ]Quantity A is greater.


[image: ]Quantity B is greater.


[image: ]The two quantities are equal.


[image: ]The relationship cannot be determined from the information given.


Where answer choices do not appear on Quantitative Comparison questions in this book, choose A, B, C, or D based on the above.


For questions followed by a numeric entry box [image: ], enter your own answer in the box. For questions followed by fraction-style numeric entry boxes [image: ], enter your answer in the form of a fraction. You are not required to reduce fractions. For example, if the answer is [image: ], you may enter [image: ] or any equivalent fraction.


All numbers used are real numbers. All figures are assumed to lie in a plane unless otherwise indicated. Geometric figures are not necessarily drawn to scale. You can assume, however, that lines that appear to be straight are actually straight, points on a line are in the order shown, and all geometric objects are in the relative positions shown. Coordinate systems, such as xy-planes and number lines, as well as graphical data presentations, such as bar charts, circle graphs, and line graphs, are drawn to scale. A symbol that appears more than once in a question has the same meaning throughout that question.





















	

1. 




	

Quantity A




	

Quantity B









	

0.01410




	

0.0141




























	

2. 




	

A certain bookstore sells only paperbacks and hardbacks. Each of the 200 paperbacks in stock sells for a price between $8 and $12, and each of the 100 hardbacks in stock sells for a price between $14 and $18.









	

Quantity A




	

Quantity B









	

The average price of the books in stock at the bookstore




	

$9.99




























	

3. 




	

[image: ]









	

Quantity A




	

Quantity B









	

The slope of line segment AB




	

The slope of line segment AC




























	

4. 




	

[image: ]


In the figure above, the circle is inscribed in a square that has area 16.









	

Quantity A




	

Quantity B









	

The area of the shaded region




	

1




























	

5. 




	

In triangle ABC, AB = 12, AC = 10, and BC = 5.









	

Quantity A




	

Quantity B









	

The measure of angle A




	

The measure of angle C












6.If [image: ] is a positive integer, how many integer values are possible for x?


[image: ]5


[image: ]6


[image: ]7


[image: ]8


[image: ]10


7.If 3x + 6y = 69 and 2x − y = 11, what is the value of y?


[image: ]


8.In a certain election race, all of the 8,400 votes were cast for either candidate A or candidate B. If votes for candidate A and votes for candidate B were cast in a 4 to 3 ratio, how many votes were cast for candidate A?


[image: ]


9.a3b4c7 > 0. Which of the following statements must be true?


Indicate all such statements.


[image: ]ab is negative.


[image: ]abc is positive.


[image: ]ac is positive.


Questions 10 to 12 are based on the following chart.


[image: ]


10.In how many years between 1940 and 2010, inclusive, did the gross federal debt exceed the gross domestic product?


[image: ]Three


[image: ]Four


[image: ]Five


[image: ]Six


[image: ]More than six


11.During which decade was federal debt held by federal government accounts closest to half of all federal debt?


[image: ]1960s


[image: ]1970s


[image: ]1980s


[image: ]1990s


[image: ]2000s


12.At its highest point, what was the approximate ratio of federal debt held by the public to that held by federal government accounts?


[image: ]1 : 1


[image: ]2 : 1


[image: ]5 : 1


[image: ]8 : 1


[image: ]12 : 1


13.A number x is 32% of a number y. If y is 20% of z, what is z in terms of x?


[image: ]0.064x


[image: ]0.64x


[image: ]6.4x


[image: ][image: ]


[image: ][image: ]


14.If S2 > T2, which of the following must be true?


[image: ]S > T


[image: ]S2 > T


[image: ]ST > 0


[image: ]|S| > |T|


[image: ]ST < 0


15.In a certain nation, every citizen is assigned an identification number consisting of the last two digits of the person’s birth year, followed by five other numerical digits. For instance, a person born in 1963 could have the identification number 6344409. How many identification numbers are possible for people born in the years 1980–1982, inclusive?


[image: ]360


[image: ]2,880


[image: ]288,800


[image: ]300,000


[image: ]2,400,000



Analyze Your Performance


Before you check your answers (you’ll get to that soon, we promise!), take a couple of minutes to think about how this test section felt qualitatively. Answer these nine questions:


Time management:


1.Did you feel like you allocated your time relatively well among the problems? Or did you find yourself running ahead or behind?


2.Did you run out of time before finishing the diagnostic? Glance back at the problems. Where do you think you spent the most time? Note down those problem numbers.


3.Alternatively, did you finish really early? Where do you think you rushed the most? Why? Note that down.


Glance back over the problems:


4.Where did you feel confident? Give those problems a smiley face on your scratch paper.


5.Where did you not feel confident, even though you did answer the problem? Give those problems a frowny face.


6.Where are you sure that you didn’t know what to do? Give those problems an X.


(Yes, do this before you know whether you got them right or wrong! You’ll learn why in a bit.)


Finally, think about the decisions that you made as you worked your way through the section:


7.Did you spend extra time on a particular problem but wouldn’t choose to do that again next time? Why was that problem ultimately not worth extra time? Note that down on your scratch paper.


8.Did you cut a problem off quickly but wish now that you had spent a little more time? If so, go ahead and try that problem again now.


9.Did you try to solve a problem one way but now wish you’d tried a different approach? If so, try that different approach right now.


Okay, now it’s time to score your test section. (Note: If you retried any problems, use your original answer when scoring your test.) You’ll then combine your qualitative analysis with the quantitative analysis to figure out how to prioritize your studies.



Analyze Your Work


As you review the problems in this diagnostic test, classify each one into one of the following categories. (Use the table just after the list to keep track of your classifications.)


If you answered correctly:


1.I legitimately answered correctly and didn’t take too long.


2.I legitimately answered correctly but felt like it took a long time.


3.I randomly guessed on this problem or otherwise got lucky.


Note: If you narrowed down to two or three answers before making a guess, then you made an educated guess. An educated guess is a legitimate answer (category 1 or 2), not a random guess (category 3). Include “I made a mistake and should have gotten this wrong, but got lucky because my mistake led me to the right answer anyway” in category 3.


For all category-3 problems, add a second classification, as described in the next list.


If you answered incorrectly or labeled something category 3:


4.I made a careless mistake, but I knew how to solve this problem.


5.I got this wrong but I understand how it works now.


6.I got this wrong and I still don’t understand it now.


7.I guessed quickly on purpose and would do so again next time.


8.I guessed quickly on purpose but, in hindsight, I might have been able to get it; next time, I’d try this one.


Use this table to classify the problems. After you assign the problem to one of the categories (1 through 8), mark that problem as correct (categories 1 and 2), incorrect (categories 4 through 8), or both (category 3).


[image: ]


Here’s how to prioritize each category of your analysis from now until your next practice test:


















	

#




	

Analysis Category




	

Prioritize or deprioritize?









	

1




	

Correct, time ok




	

This is a strength! Deprioritize. Spend the majority of your study time elsewhere.









	

2




	

Correct, time too long




	

This is pretty close to a strength. Prioritize figuring out how to improve your efficiency (including other possible approaches, not just doing steps faster).









	

3




	

Got lucky




	

Reclassify as 4, 5, 6, 7, or 8 and proceed accordingly.









	

4




	

Careless mistake




	

Prioritize figuring out how to minimize this type of mistake in future.









	

5




	

Wrong but get it now




	

Prioritize this problem type or content area (or both).









	

6




	

Wrong and still don’t get it




	

Deprioritize this content area from now until your next practice test. (Don’t necessarily deprioritize the entire problem type.)









	

7




	

Guessed on purpose; right call




	

Deprioritize this content area from now until your next practice test.









	

8




	

Guessed on purpose; should have tried it




	

Prioritize this problem type or content area (or both) from now until your next practice test.












Most people hesitate to put more than a couple of things in their Deprioritize bucket. Ideally, though, you want your Prioritize and Deprioritize buckets to be about the same size—you can’t do everything at once!


When you deprioritize something, you’re only doing so between now and your next practice test. After your next test, you’ll analyze your new data, and two things will happen. First, some of the things that you prioritized last time will turn into strengths and no longer need to be prioritized. That will make room in your Prioritize bucket for you to add new things—so, second, you can move some of your former Deprioritize categories up into your Prioritize bucket.


This cycle will keep happening as you continue to make progress in your studies. By the time you get to the real test, you won’t have very many things left in your Deprioritize bucket. (But you will still have some. Everyone has strengths and weaknesses; that’s 100% expected. Going into your real test, you’ll use your Deprioritize bucket to know when to guess quickly and move on.)


To get a sense of your initial scoring range on the Quantitative section of the GRE, count your number correct including category 3. Look up the number Actually Correct in this table:
















	

Raw Quantitative Score




	

Quantitative Reasoning Diagnostic Scaled Score









	

13–15




	

161–170









	

10–12




	

155–160









	

8–9




	

150–154









	

4–7




	

140–149









	

0–3




	

130–139












NOTES:


Diagnostic Scaled Score is directionally accurate but only approximate.




(a)If you spent more time on this diagnostic section than you will be allowed on the real GRE, then your performance may be artificially inflated.


(b)Your Scaled Score depends not only on how many questions were answered correctly (Raw Score), but also on the overall difficulty of the set of questions. This diagnostic test approximates the difficulty of the first quant section of an official GRE® revised General Test. On the official exam, you will complete two Quantitative sections in order to receive a more precise Quantitative section score.





Use this score approximation to help set a realistic study timeframe for yourself. Generally speaking, if you want to improve by 10 or more points, you will likely need at least several months of study. In addition, generally speaking, if you want to improve from below 165 to close to 170, you will also likely need several months of study. (It typically takes more time to lift from 165 to 170 than from 155 to 160.)



Next Steps


What do you do with all of this analysis? First, let’s start with your Legitimately Correct score, aka the number that you categorized as 1 or 2 during your analysis. (Consider category 3 incorrect for this count.)
















	

If your Legitimately Correct Score is:




	

Then:









	

0 to 6




	

Refresh all of your math fundamentals.




	Start with Appendix A of this book, and consider using Unit 1 of our GRE All the Quant guide.


	When you feel comfortable with the fundamentals, quiz yourself using Appendix B of this book.


	Need more? Keep going with our GRE All the Quant guide, starting from Unit 1.












	

7 to 10




	

Refresh your math fundamentals as needed.




	Make a list of the specific content areas that gave you trouble.


	Use Appendices A and B of this book to brush up on those areas. Skip or skim any material that you already know well.


	Need more? Also complete Unit 1 of our GRE All the Quant guide, focusing on the areas you identified as weaknesses.












	

11 to 15




	

Your fundamentals are solid.




	Identify a set of books or other resources that can teach you the higher-level content needed to earn a top GRE score.


	As you learn that material, use your 5 lb. Book of GRE Practice Problems to drill your skills and practice working accurately and efficiently on test day.


	Need help on more advanced content? Manhattan Prep’s GRE All the Quant guide covers all of the quant material tested on the GRE.















Also, look for trends among that data. For example, problems 3, 4, and 5 are all geometry problems. If you missed all of the geometry problems in this diagnostic, there’s a good chance that you need a general refresher across that entire category. Likewise, problems 1 through 5 are all quantitative comparisons; if you missed more than half, it might be the case that you need more practice with this problem type overall.


Finally, here are some possible next steps for each problem analysis category:


















	

#




	

Analysis Category




	

What next?









	

1




	

Correct, time ok




	

Practice periodically to keep your skills up.









	

2




	

Correct, time too long




	

Figure out how to improve your efficiency (including other possible approaches, not just doing steps faster). Practice those approaches until they become habits.









	

3




	

Got lucky




	

Consider this an incorrect answer and reclassify as 4, 5, 6, 7, or 8.









	

4




	

Careless mistake




	

What mistake did you make? Why did you make it? What new habit can you build or practice to reduce the chances of making that type of mistake in the future?









	

5




	

Wrong but get it now




	

Review lessons/study materials that teach you about this content area, skill, or problem type. Use 5 lb. drills/practice problems to reinforce the skills you’re learning.









	

6




	

Wrong and still don’t get it




	

Deprioritize for now.









	

7




	

Guessed on purpose; right call




	

Deprioritize for now.









	

8




	

Guessed on purpose; should have tried it




	

Review lessons/study materials that teach you about this content area, skill, or problem type. Do you still think that you’d want to try this next time? If not, move this to your Deprioritize bucket. If so, use 5 lb. drills/practice problems to reinforce the skills you’re learning.












Every time you do another practice test, practice section, or problem set, analyze the problems with this framework in mind. Then, make the call as to whether you want to prioritize or deprioritize this material from now to your next practice test—and take steps accordingly.


For instruction on multiple math strategies that will help you solve problems more efficiently and effectively, read Chapter 7 before you dive into the rest of the math chapters in this book.


Good luck and happy studying!



Quant Diagnostic Test Answers



1.(C). In a repeating decimal, the portion under the bar repeats without end. In Quantity A, the portion “1410” repeats, after an initial 0.0 that does not repeat. In Quantity B, the portion “0141” repeats, starting immediately after the decimal. To compare, write out more digits of each decimal:


Quantity A: 0.0141014101410…


Quantity B: 0.0141014101410…


The two quantities are equal; Quantity A and Quantity B are just different ways of writing the same number.


2.(A). Because there are twice as many paperbacks as hardbacks in stock, the overall average price will be closer to the price of the paperbacks than the price of the hardbacks. However, the fact that the problem gives price ranges instead of prices complicates matters a bit. Calculate the lowest possible overall average and the highest possible overall average to see whether that average can be both lower and higher than $9.99.


To calculate the lowest possible overall average, assume the lowest price for all paperbacks and all hardbacks ($8 and $14, respectively). Note that there are twice as many paperbacks as hardbacks, which essentially double−weights the $8:


[image: ]


This minimum average price is already greater than $9.99, so the maximum average price would also be greater and there is no need to calculate it.


Quantity A is greater.


3.(A). While there are no numbers on the graph, both lines have positive slopes (the lines rise upward when reading from left to right) and segment AB is steeper than segment AC. Thus, segment AB has a greater slope.


While you should be cautious about making assumptions on the GRE, the fact that the two lines form two sides of a triangle and meet at vertex A shows that the lines are not parallel, and segment AB, which rises above segment AC to the right of their meeting point, is definitely steeper.


4.(B). If the area of the square is 16, then the side of the square is 4. Since the circle is inscribed in the square, its diameter is 4 and its radius is 2. Since the area of a circle is πr2, the area of this circle is 4π. Thus, the combined area of the four “corners,” outside the circle but inside the square, is 16 − 4π. The shaded region is one of these four identical “corners,” so the area of the shaded region is [image: ], which is less than 1.


Quantity B is greater.


5.(B). Begin by drawing the triangle described by the text and labeling the sides:


[image: ]


According to the properties of triangles, the longer the side opposite an angle, the larger the angle itself must be. Since angle A opens to the shortest side, length 5, while angle C opens to the longest side, length 12, it must be true that angle C is greater than angle A. Thus, Quantity B is greater.


6.(B). If [image: ] is a positive integer, then x is a positive factor of 52 (i.e., x divides evenly into 52). This question can most easily be solved by listing positive factor pairs for 52, as listing in pairs will help prevent omissions. Each pair multiplies to 52.


The factors of 52 are:


1 & 52


2 & 26


4 & 13


Check to make sure this list is complete. Looking down the left column, 1 and 2 made the list, then 3 didn’t divide evenly into 52, then 4 did. Since 4 pairs with 13, check the other integers between 4 and 13. Since 5, 6, 7, 8, 9, 10, 11, and 12 don’t divide evenly into 52, this list is complete. There are 6 factors, so the answer is (B).


7.Multiply each term of the second equation by 6: 12x − 6y = 66. Why do this? Because the first equation has a 6y, and the y terms will now cancel when the equations are added:


[image: ]


Plug x = 9 back into an original equation to get y:


[image: ]


In summary, x = 9 and y = 7. Be sure to use the value of y to select your answer, and not the value of x.


8.4,800. If votes for candidate A and votes for candidate B were in a 4 to 3 ratio, then for every 4 votes candidate A got, candidate B got 3. You can think of these votes as existing in “sets” of 7 votes.


Divide 8,400 by 7 to get 1,200. Thus, the votes were cast in 1,200 “sets” of 7. In each “set,” the votes went A A A A B B B (4 votes for A, 3 for B). Thus, the total number of votes for A is 1,200 × 4 = 4,800.


9.“ac is positive” only. Since b4 must be positive, if a3b4c7 is positive, a3c7 must also be positive. Since putting an odd exponent on a number doesn’t change whether the number is positive or negative, ac must be positive, so the third statement is true. The other statements require knowledge of the sign of b, which is not known here, since the even exponent “hides” whether the underlying base is positive or negative.


10.(A). The chart expresses gross federal debt as a percent of gross domestic product, so federal debt exceeded gross domestic product in any year in which the value of the graph rose above 100. Only during three years in the 1940s does the graph extend above 100.


11.(E). Federal debt held by federal government accounts would be half of all federal debt in any year in which the dark, bottom portion of the bar equaled the lighter, top portion. Although it never actually reached 50% of the total federal debt, the dark portion of the bar came closest to equaling the light portion during the 2000s.


12.(D). The ratio of federal debt held by the public to that held by federal government accounts for any given year would be the measure of the lighter top bar over the measure of the darker bottom bar for that year. (To get the measure of the lighter top bar, you must subtract the value of the darker bottom bar.)


While the federal government accounts percent hovered near the low teens throughout most of the graph, debt held by the public rose above 100% during portions of the 1940s. Identify the year in which the lighter top bar is the largest in comparison to the darker lower portion. In this chart, it happens to be the tallest bar overall, which was 1946, although it’s not necessary to identify the exact year:


Total bar: 120 (actually a bit more)


Dark bottom bar: 15 (or a bit less)


Light top bar: 120 (or more) − 15 (or less) = 105 (or a bit more)


The ratio is thus 105 (slightly more) : 15 (maybe less), which is 7 : 1 (or a bit higher). Among the given options, this ratio is closest to 8 : 1.


13.(D). Translate the percent relations in the problem into algebraic statements. First, “a number x is 32% of a number y” becomes:


x = 0.32y


Similarly, “y is 20% of z” becomes:


y = 0.2z


Substituting for y from the second equation into the first eliminates y and gives the following relationship between x and z:


x = 0.32(0.2z)


x = 0.064z


Finally, the problem asks for z in terms of x, so isolate the variable z by dividing both sides of the equation by 0.064:


[image: ]


14.(D). The square root of a squared variable is equal to the absolute value of that variable: [image: ]|, not x. So, taking the square root of both sides of this inequality results in |S| > |T |. Answer choice (A) does not have to be true because S could be negative while T is positive. For example, if S = −5 and T = 4, then S2 > T2. Testing fractions in answer choice (B) shows that it does not have to be true. If [image: ] and [image: ], then [image: ] or − [image: ]. The fraction [image: ] is greater than [image: ], which means that T can be greater than S2. Answer choice (C) does not have to be true because S and T could have opposite signs. Answer choice (E) does not have to be true because S and T could have the same sign.


15.(D). This is a combinatorics problem in which order matters (as it always does with passcodes, ID codes, etc.). Since the identification numbers each have 7 digits, draw 7 slots. In each slot, list the number of possibilities for that slot.


Since the question asks only about identification numbers for people born in 1980, 1981, and 1982, the identification numbers must begin with 80, 81, or 82. Thus, only 8 (1 option) can go in the first slot. Only 0, 1, or 2 (3 options) can go in the second slot:


[image: ]


Note that there is no rule against repeating a number in an identification number (the problem gives the example “a person born in 1963 could have the code 6344409”), so each remaining slot can contain any of the digits 0–9 (10 options):


[image: ]


The fundamental counting principle states that the total number of choices is equal to the product of the independent choices. To calculate the answer, multiply 1 × 3 × 10 × 10 × 10 × 10 × 10 = 300,000.


Alternatively, note that for each birth year, the part of the identification number unique to the individual is a 5−digit number. These could be 00000−99999 (99,999 + 1 = 100,000 options). There are 100,000 possible numbers for each of 3 years, or 300,000 identification numbers possible.
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CHAPTER 3 Text Completions



How to Use This Chapter


This chapter contains 128 Text Completion (TC) problems. Split this chapter into thirds and use each third at different stages of your studies.


First third: Use approximately the first 40 problems as “single-use” problems. Do one problem, then check your work and figure out how to improve. Make any flash cards needed, then move on to the next problem.


You don’t need to time yourself for this first third (and we don’t recommend doing so until you’ve tried at least 10 untimed), but if you want to, use these approximate guidelines:


[image: ]


Use extended (1.25x, 1.5x, or 2x) timing if you have been approved for extended time on the official exam.


Second third: Group the middle approximately 40 problems into mini-timed sets to start getting a feel for your average timing on the test. Do a set of 3 to 6 problems at once, without stopping, then check your work afterwards.


Set a time limit based on the number of blanks in each problem and the number of problems you’re choosing to do in that set. Use a timer and have a goal to have an answer written down for every problem before the timer dings.


Final third: Use the rest of the problems in mixed timed sets. Mix these up with Sentence Equivalence (SE) and Reading Comprehension (RC) problems to mimic the mix of questions you’ll see on the real test. Put sticky notes or paper clips on the pages that contain the problems you want to do, so that you can flip quickly to the needed pages.


You can make your mixed sets as long or as short as you like. If you only have 5 minutes, don’t postpone your studies until you have more time. Just make a shorter set and go for it.


If you want to mimic half of a test section, do a total of 6–8 problems in your set, roughly half vocabulary-based and half RC-based. Set your timer for 9–12 minutes for this half-section mixed set (multiply the number of questions by 1.5 for a good timing benchmark). Here are some guidelines for creating such a set:


















	

Problem type




	

Number of problems




	

Notes









	

3–4 Vocab Total:









	

Text Completion




	

1–3




	

Vary the number of blanks (don’t do all one-blank or all three-blank).









	

Sentence Equivalence




	

1–3




	






	

3–4 RC Total:









	

Regular RC




	

2–4




	

When doing a passage that has multiple problems, do all* problems for that passage.









	

Argument-Based RC




	

1–2




	

Most of the time, use just one.












*A few RC passages in this book have six associated questions. The first time you do one of these, use only the first three problems. In a month or so, try the passage again, this time using the fourth through sixth problems associated with that passage.


Text Completions Problem Set


Select one entry for each blank from the corresponding column of choices. Fill in the blank in the way that best completes the text.


1.In Europe, football, otherwise known as soccer, is the most popular sport by several orders of magnitude, whereas in the United States of America, fandom is fairly evenly ________ among a few different sports.
















	

regarded









	

inspired









	

enjoyed









	

measured









	

apportioned















2.The astrophysicist argues that our books and films about interstellar space travel are a form of mass ________, and that only a miracle on a scale heretofore unseen could allow a human being to voyage to even the closest star in another solar system.
















	

innovation









	

delusion









	

dementia









	

catastrophe









	

hysteria















3.Peculiarly enough, Shakespeare has been often (i) ________ as the best English language playwright, and often (ii) ________ as a man lacking the education to write those plays.




















	

Blank (i)




	

	

Blank (ii)









	

crowned




	

	

demonized









	

stigmatized




	

	

dismissed









	

castigated




	

	

deified















4.While far from the bane that some scholars have declared them to be, (i) ________ versions of novels and essays do indeed excise essential elements; students would have to supplement their reading with (ii) ________ sources to fully understand the intent of the original.




















	

Blank (i)




	

	

Blank (ii)









	

annotated




	

	

complementary









	

abridged




	

	

complimentary









	

antedated




	

	

compelling















5.Even the ________ and alluring charms of Paris were not sufficient to cure the young expatriate of his yearning for the simple and quaint charms of his rural American home.
















	

lascivious









	

sophisticated









	

foreign









	

alien









	

alienating















6.The fact that the average life expectancy ten thousand years ago was so much shorter than it is now is often (i) ________ as evidence supporting the notion that the world always improves with time. However, if you (ii) ________ for the fact that most children in that epoch died in childbirth, life expectancy for those who survived birth was nearly the same then as it is now.




















	

Blank (i)




	

	

Blank (ii)









	

cited




	

	

prepare









	

disregarded




	

	

read









	

embodied




	

	

correct















7.On an aptitude test in 1986, an argument posited that the possibility of conducting banking transactions from home was as likely as flying cars, an argument that sounds ________ today, when such transactions are commonplace.
















	

prescient









	

preternatural









	

preordained









	

preposterous









	

pithy















8.The widespread tendency to ________ retired political leaders who were successful stems from an arguably primal human need to venerate both men and gods.
















	

castigate









	

remember









	

lionize









	

appreciate









	

indemnify















9.Academic work can be as taxing as manual labor. The misconception that (i) ________ work strains the mind less than physical work strains the body has been proven wrong by scientific investigation as well as by anecdotal evidence. It is simply not true that the (ii) ________ musings of a mathematician are necessarily easier than the physical labor of, say, a carpenter.




















	

Blank (i)




	

	

Blank (ii)









	

cerebral




	

	

quotidian









	

intense




	

	

extraordinary









	

actuarial




	

	

intellectual















10.Known for her humorous but acerbic wit, the fashion doyenne commented, in her usual, simultaneously (i) ________ and (ii) ________ manner, that in Los Angeles, “the women dressed like men and the men dressed like boys.”




















	

Blank (i)




	

	

Blank (ii)









	

slanderous




	

	

considerate









	

amusing




	

	

hysterical









	

serious




	

	

caustic















11.Every generation is accused of slacking by the preceding ones, before in turn calling its own progeny lackadaisical; such is the ________ of life.
















	

vicissitude









	

irony









	

circle









	

serendipity









	

comedy















12.Although retired, the professor takes pains to remain ________ the latest developments in her field.
















	

akimbo to









	

abreast of









	

obtuse to









	

subservient to









	

askance to















13.She was not the only (i) ________ of the long-proposed legislation, but she was the (ii) ________ who finally got the bill onto the legislative agenda.




















	

Blank (i)




	

	

Blank (ii)









	

apologist




	

	

catalyst









	

critic




	

	

mercenary









	

proponent




	

	

lackey















14.Jeremy was not one to (i) ________ his success, let alone talk much at all, so his family was shocked when they finally discovered that their (ii) ________ son was a Rhodes Scholar.




















	

Blank (i)




	

	

Blank (ii)









	

demarcate




	

	

improvident









	

whitewash




	

	

taciturn









	

trumpet




	

	

dissolute















15.In his youth, Oscar Wilde catapulted to sudden fame both because of and despite his (i) ________ witticisms; however, the cutting remarks that won him renown also led to his financial and physical ruin, and he died (ii) ________ and sickly in a shabby Parisian hotel.




















	

Blank (i)




	

	

Blank (ii)









	

innovative




	

	

pallid









	

acerbic




	

	

aghast









	

inimical




	

	

impecunious















16.Hursthouse, (i) ________ virtue ethicists in general, argues that ethics is properly neither situational nor utilitarian and that one ought to seek out virtue and emulate it rather than base one’s judgments on subjective concerns or a (ii) ________ weighing of pain and pleasure likely to result from a given action; critics, of course, tend to (iii) ________ that Hursthouse and other virtue ethicists who seek to define virtue merely seek to enshrine their own prejudices under the guise of theory.
























	

Blank (i)




	

	

Blank (ii)




	

	

Blank (iii)









	

enigmatic to




	

	

pragmatic




	

	

posit









	

breaking away from




	

	

quixotic




	

	

deny









	

emblematic of




	

	

grandiloquent




	

	

cajole















17.The film was (i) ________(ii) ________ by critics; rightfully, not a single reviewer had any positive thing to say about it.




















	

Blank (i)




	

	

Blank (ii)









	

warily




	

	

lauded









	

mendaciously




	

	

panned









	

roundly




	

	

venerated















18.The distinction between architecture and the engineering professions that it resembles is that the former must consider ________ as well as functionality, as clients often base their decisions more on the beauty of the project than its practicality.
















	

insouciance









	

utility









	

price









	

aesthetics









	

profundity















19.Once considered able to only ________ emulate actions without understanding the action’s deeper significance, bearded dragons have recently been observed copying non-instinctive actions of other bearded dragons, prompting scientists to question whether other reptiles might also be capable of genuine imitation.
















	

attentively









	

insensibly









	

listlessly









	

actively









	

consciously















20.December’s earthquake was but a ________ to a terrible year for a small island nation recently wracked by civil strife and devastating tropical storms.
















	

prologue









	

catharsis









	

coda









	

homily









	

rampage















21.Although they had never met, the two writers felt they were of one mind, each (i) ________ anticipating the contents of the other’s letters; never had two intellectuals been more (ii) ________.




















	

Blank (i)




	

	

Blank (ii)









	

ominously




	

	

providential









	

anachronistically




	

	

shrewd









	

presciently




	

	

simpatico















22.After many years of war and bloodshed, some became ________ suffering, casting a blind eye to scenes of misery around them.
















	

inured to









	

exempted from









	

dominant over









	

effusive towards









	

maudlin over















23.After a brief initial struggle over power, the group elected a leader and ________ into a surprisingly harmonious team.
















	

fractured









	

syncopated









	

coalesced









	

agglomerated









	

amortized















24.The highly anticipated finale of the TV series was divisive: newcomers to the show found the fast-paced action enjoyable, while long-time fans ________ the storyline unfinished.
















	

appreciated









	

generated









	

examined









	

considered









	

secured















25.The author was far from (i) ________ the novel. While most of the book was already written, he knew that it would take innumerable hours to review and edit. This was going to be (ii) ________, not only because of the book’s length, but also because of the convoluted plot.




















	

Blank (i)




	

	

Blank (ii)









	

finishing




	

	

hardy









	

inscribing




	

	

trying









	

rejecting




	

	

redundant















26.During his sales pitch, the car salesman attempted to ________ the young couple into purchasing the luxury automobile, despite the pair’s obvious indifference to his flattery.
















	

support









	

inveigle









	

deliberate









	

marginalize









	

hector















27.Just as reminiscences of a childhood spent in rural Mexico color the poet’s work, so too does the experience of war ________ her poetry.
















	

inform









	

mimic









	

invalidate









	

defer









	

presage















28.The peanut is often (i) ________ referred to as a nut; (ii) ________ to such people, it is actually a legume.




















	

Blank (i)




	

	

Blank (ii)









	

archaically




	

	

unbeknownst









	

erroneously




	

	

abhorrent









	

deftly




	

	

consanguineous















29.The (i) ________ child approached the diving board; (ii) ________ water in the first place, he found the prospect of jumping into it from some height even more frightening.




















	

Blank (i)




	

	

Blank (ii)









	

tremulous




	

	

beguiled by









	

coltish




	

	

chary of









	

cumbersome




	

	

repulsed by















30.Soldier ants are wingless, sterile females that guard the colony and supply it with food, thus acting as both (i) ________ and laborers as the (ii) ________ queen produces enough (iii) ________ to continually populate the colony.
























	

Blank (i)




	

	

Blank (ii)




	

	

Blank (iii)









	

sentries




	

	

fecund




	

	

forebears









	

sages




	

	

efficacious




	

	

progeny









	

sycophants




	

	

imperious




	

	

harbingers















31.The Paris Commune was a government that ruled France for about two months in 1871; despite its (i) ________ reign, it was at the time (ii) ________ as a sign of the emergence of a powerful working class.




















	

Blank (i)




	

	

Blank (ii)









	

equivocal




	

	

discounted









	

ephemeral




	

	

recanted









	

omnipotent




	

	

heralded















32.While taller wind turbines would allow more areas of the country to provide cost-effective alternative energy, there are several (i) ________ that engineers are currently facing while trying to build such turbines. Taller towers necessitate (ii) ________ bases, requiring the current width to be nearly doubled. This leads to (iii) ________ issue: these wider sections would be too large to travel on modern highways, meaning that the taller turbines would need to be constructed at the location where they are to eventually stand.
























	

Blank (i)




	

	

Blank (ii)




	

	

Blank (iii)









	

flaws




	

	

equitable




	

	

a concomitant









	

supplements




	

	

unobtrusive




	

	

a theoretical









	

complications




	

	

stouter




	

	

an objective















33.During the prolonged and elaborate farewell tour, no one thought the plaudits heaped upon him were ___________, since his heroics were well documented and admired by all.
















	

obsequious









	

derivative









	

deserved









	

vestigial









	

antiquated















34.He has such a pleasingly (i) ________ personality that it’s hard to be bothered by the (ii) ________ in his past.




















	

Blank (i)




	

	

Blank (ii)









	

sanguine




	

	

peccadilloes









	

high-handed




	

	

incendiaries









	

evanescent




	

	

achievements















35.The Tasmanian devil is not considered (i) ________, since only a few of its confrontations with humans have been (ii) ________.




















	

Blank (i)




	

	

Blank (ii)









	

adverse




	

	

premature









	

menacing




	

	

quixotic









	

unpredictable




	

	

unprovoked















36.The (i) ________ young employee was soon (ii) ________ for making a serious mistake that cost the company thousands of dollars.




















	

Blank (i)




	

	

Blank (ii)









	

banal




	

	

enamored









	

sagacious




	

	

castigated









	

verdant




	

	

deposed















37.The beauty pageant contestant told the judges she wanted world peace, but her suggestion to bring about world peace was ____________—apparently, she naïvely thinks everyone could just be told to “love one another” and all the world’s disagreements would fade away.
















	

convoluted









	

facile









	

impeccable









	

amicable









	

dulcet















38.In front of her parents, adults euphemistically referred to the overly talkative young girl as precocious, though they privately found her to be ________.
















	

garrulous









	

skittish









	

solicitous









	

endearing









	

naïve















39.While the author’s first collection of short stories presented a (i) ________ hodgepodge of voices, the second collection presents a remarkably (ii) ________ set of tales presented by a (iii) ________ narrator.
























	

Blank (i)




	

	

Blank (ii)




	

	

Blank (iii)









	

motley




	

	

insightful




	

	

lonely









	

variable




	

	

even




	

	

disingenuous









	

homogeneous




	

	

facetious




	

	

sole















40.In contrast to environmental economics, an older field that concerns itself with the monetary valuation of natural resources, the emergent field of ecological economics positions the human economy as a subsystem of natural ecologies, thus ________ environmental economists’ subordination of the natural world.
















	

circumscribing









	

corroborating









	

refuting









	

ameliorating









	

reversing















41.Today’s highly partisan political environment is far from ________; not so long ago, ideological opponents were still able to set aside differences and work across party lines, as is typically necessary to pass productive legislation.
















	

civil









	

immutable









	

polemical









	

efficacious









	

enjoyable















42.The virtual (i) ________ of John F. Kennedy focuses on his presidential achievements, legend, and assassination; similarly, during his candidacy, verbal and written (ii) ________ were laid at the altar of his wartime exploits.




















	

Blank (i)




	

	

Blank (ii)









	

deification




	

	

calumnies









	

excoriation




	

	

garlands









	

praise




	

	

obloquies















43.For centuries, commercial portrait painters have employed a bifurcated aesthetic: like other artists, they strive to represent the truth that gives their works life, but commerce dictates that they simultaneously employ subtle ________ that make the likeness more attractive than the sitter.
















	

palettes









	

aesthetics









	

artifacts









	

artifices









	

sentiments















44.Dogmatic professors often alienate their classes because they fail to realize that their ________ enervates rather than inspires students.
















	

wisdom









	

pedantry









	

parsimony









	

pulchritude









	

wit















45.General McClellan focused so intently on the petty, logistical details of the upcoming campaign that Lincoln felt that said attention to ________, however necessary, had superseded more lofty goals.
















	

irrelevancies









	

tactics









	

minutiae









	

strategy









	

peccadilloes















46.Jimmy Stewart, the actor, spoke with an (i) ________ that (ii) ________ audiences; through hesitancy and understatement, he was at least as captivating as his flamboyant peers.




















	

Blank (i)




	

	

Blank (ii)









	

awkward lisp




	

	

enthralled









	

overwhelming passion




	

	

repelled









	

appealing shyness




	

	

amused















47.Given the (i) ________ of the book, the critical reception was surprisingly (ii) ________; reviewers who usually pounce on the slightest orthodoxy met the text with unabashed approbation.




















	

Blank (i)




	

	

Blank (ii)









	

ingenuity




	

	

tepid









	

tortuousness




	

	

laudatory









	

conventionality




	

	

deprecating















48.Ironically, the commentator who so roundly condemned personal (i) ________ was (ii) ________ to the point of bankruptcy—he himself was a reflection of an aspect of the ills that, in other areas, he railed against.




















	

Blank (i)




	

	

Blank (ii)









	

indolence




	

	

profligate









	

probity




	

	

antediluvian









	

dissipation




	

	

ascetic















49.For all the student’s meticulous preparation, he received ________ grade on his final exam.
















	

a passable









	

a deplorable









	

an exacting









	

a surprising









	

an outstanding















50.Just as ancient Greek culture in some ways provided the Romans with a model, the remnants of Roman culture ________ the development of medieval European mores.
















	

duplicated









	

curbed









	

foresaw









	

informed









	

hindered















51.As an evolutionary adaptation, cats have developed a mechanism whereby their heads are measuring devices, as their bodies can fit through any space that their heads can, and this physiology is a safeguard that ________ their success as a species.
















	

reproduces









	

ensures









	

enhances









	

mitigates









	

inundates















52.Far from the (i) ________ novice that he made himself out to be, the new teacher was in fact quite (ii) ________: within a week of arrival, he understood the school’s byzantine power structures and was using the dysfunctional administration to his advantage.




















	

Blank (i)




	

	

Blank (ii)









	

cunning




	

	

canny









	

guileless




	

	

unseemly









	

capricious




	

	

desultory















53.Since there are significant (i) ________ in the flawed methodologies of the studies upon which it is based, the meta-analysis is anything but (ii) ________.




















	

Blank (i)




	

	

Blank (ii)









	

irregularities




	

	

unreliable









	

subtleties




	

	

intelligible









	

consistencies




	

	

credible















54.Crane Brinton argued that the middle phases of revolutions are especially (i) ________ because the unleashed force of social momentum transfers power inexorably from more stable (if oppressive) forces to less temperate ones. Yet, he then goes on to say that the excesses (ii) ________ and a more peaceful period ensues.




















	

Blank (i)




	

	

Blank (ii)









	

brusque




	

	

metastasize









	

berserk




	

	

grow









	

pacific




	

	

recede















55.The Donner party made a ________ choice to try to cross the Sierra Nevada too late in the season, and they paid dearly for that dangerous decision.
















	

prudent









	

parlous









	

suicidal









	

semiotic









	

providential















56.The engineer is not interested in developing products to meet market needs; her work is known for its technical brilliance much more than for its ________ potential.
















	

scientific









	

ergonomic









	

commercial









	

academic









	

revolutionary















57.Frederick the Great of Prussia was known for his (i) ________ under fire during his military victories; however, when confronting issues of domestic policy, this equilibrium sometimes failed him. He was often (ii) ________ with his ministers, who never knew when they might be subjected to one of his tirades.




















	

Blank (i)




	

	

Blank (ii)









	

intrepidity




	

	

fascist









	

cruelty




	

	

mercurial









	

sangfroid




	

	

vainglorious















58.In her opening remarks, the school’s director empathized with the apparent (i) ________ of taking disciplinary action in the classroom; on the one hand, teachers can ill afford to (ii) ________ indisputably disruptive behaviors, while on the other, overly strict administration can actually foster such behaviors.




















	

Blank (i)




	

	

Blank (ii)









	

necessity




	

	

fabricate









	

entreaty




	

	

brook









	

paradox




	

	

mitigate















59.The library wing was first conceived merely as (i) ________ to address the problem of book overstock until a more permanent solution could be found. Ironically, it was the flimsy nature of the wing itself that attracted such architectural interest and ultimately led to its canonization as a (ii) ________ of its kind. Now a statute exists to protect this originally transient structure in (iii) ________.
























	

Blank (i)




	

	

Blank (ii)




	

	

Blank (iii)









	

a stopgap




	

	

paragon




	

	

consecration









	

an ornament




	

	

nadir




	

	

chronology









	

a modicum




	

	

catalyst




	

	

perpetuity















60.Though the negotiation was initially expected to proceed smoothly, it soon became apparent that any semblance of (i) ________ between the parties was disingenuous or, at best, a superficial adherence to certain (ii) ________.




















	

Blank (i)




	

	

Blank (ii)









	

duplicity




	

	

mores









	

amity




	

	

truisms









	

solace




	

	

plaudits















61.Unable to eschew her well-known tendency toward (i) ________, the speaker effectively turned a five-minute policy brief into an hour-long (ii) ________ on the history of the region.




















	

Blank (i)




	

	

Blank (ii)









	

terseness




	

	

distension









	

precision




	

	

expatiation









	

elaboration




	

	

repertory















62.The senator’s ________ upbringing seemingly had no effect on his policy: he vociferously championed economic, political, and even cultural isolationism.
















	

cosmopolitan









	

bucolic









	

liberal









	

tendentious









	

opulent















63.The plan, if it can be called that, has been more of (i) ________ vision than a concrete proposal; like many similarly (ii) ________ ideas, it is unlikely to ever come to fruition.




















	

Blank (i)




	

	

Blank (ii)









	

an oppositional




	

	

quixotic









	

a protean




	

	

pragmatic









	

a martial




	

	

unorthodox















64.It was a fact that the region was both quiet and rural, but what the typically impoverished residents considered (i) ________ refuge was considered by the well-heeled visitors to be an intolerable (ii) ________, and its residents’ lifestyles unpleasantly (iii) ________.
























	

Blank (i)




	

	

Blank (ii)




	

	

Blank (iii)









	

a parochial




	

	

asylum




	

	

tony









	

an arcadian




	

	

utopia




	

	

spartan









	

a squalid




	

	

hinterland




	

	

rational















65.Though many readers assumed that the (i) ________ depicted in her stories reflected the author’s own lifestyle, in reality she was more prudish than (ii) ________.




















	

Blank (i)




	

	

Blank (ii)









	

dissent




	

	

licentious









	

propriety




	

	

moralizing









	

debauchery




	

	

perspicacious















66.The club had been all male up until 1963, when it began to admit women, who now make up more of the membership; hence, the female club president was both annoyed and amused at an elderly male member’s (i) ________ suggestion that women be shuffled off to (ii) ________ organization where they could play bridge and drink tea without having to worry about serious issues.




















	

Blank (i)




	

	

Blank (ii)









	

regressive




	

	

an incendiary









	

rustic




	

	

an auxiliary









	

prudish




	

	

a hierarchical















67.Although this historical figure had been (i) ________ politician and a brilliant inventor, the professor found herself unable to (ii) ________ the interest of her students in the career of a man with such outdated views.




















	

Blank (i)




	

	

Blank (ii)









	

an insipid




	

	

whet









	

a deft




	

	

accrue









	

an effete




	

	

tout















68.The comedian’s ________ wit has long been the cause of the polarized sentiments she evokes in her audience; some adore her caustic sense of humor, while others abhor it.
















	

ample









	

acerbic









	

anachronistic









	

abstruse









	

astounding















69.Contrary to the assumptions that many Westerners hold about mindfulness practices, meditation is often anything but ________; while using various methods to calm the mind, meditators frequently experience intense periods of restlessness and doubt.
















	

beneficial









	

mystical









	

orthodox









	

benign









	

halcyon















70.Faced with ________ job market, many young people are returning to graduate school rather than attempting to compete for the few available jobs.
















	

a myopic









	

an anemic









	

a botched









	

a booming









	

an educated















71.Despite his longtime advocacy for campaign finance reform, the career politician was, in fact, far more (i) ________ corporate interests than his rival, whose relatively recent entry into the political arena meant that he had far fewer (ii) ________ to make good on.




















	

Blank (i)




	

	

Blank (ii)









	

leery of




	

	

affiliations









	

beholden to




	

	

dilemmas









	

apathetic about




	

	

obligations















72.Far too (i) ________ to consider a career in the political limelight, the unassuming aide contented herself with a career behind the scenes, (ii) ________ supporting the political heavyweights of her day.




















	

Blank (i)




	

	

Blank (ii)









	

diffident




	

	

implicitly









	

apathetic




	

	

quietly









	

ideological




	

	

skeptically















73.There are many good reasons to construct urban traffic lanes for cyclists: city infrastructure is already ________ under the strain of excess auto traffic, and the safety advantages of limiting road-sharing between cyclists and vehicles are all too clear.
















	

seething









	

waiting









	

groaning









	

baying









	

intensifying















74.Though the professor had made her (i) ________ tendencies clear to the hiring committee, the extent and consistency of her (ii) ________ was still a surprise to many who had voted to approve her hiring: she persistently challenged the academic methods and the institutional procedures of her department and of the university as a whole, going so far as to advocate for the (iii) ________ of “inherently elitist” institutions of higher education in the name of democratizing education.
























	

Blank (i)




	

	

Blank (ii)




	

	

Blank (iii)









	

intellectual




	

	

iconoclasm




	

	

abolition









	

illiberal




	

	

theories




	

	

enshrinement









	

heterodox




	

	

intelligence




	

	

mitigation















75.The apparent simplicity of a cup of coffee ________ the dizzying number of hours of toil required to produce it, from months of cultivation of the bean tree to painstaking refinement in highly sophisticated machinery.
















	

redresses









	

confirms









	

belies









	

furnishes









	

fosters















76.Notwithstanding the mishmash of worn tools littering every surface of the artist’s studio, the place exuded a certain sense of order manifest through the clutter; the décor was, if (i) ________, (ii) ________.




















	

Blank (i)




	

	

Blank (ii)









	

unkempt




	

	

largely unsophisticated









	

dire




	

	

positively callous









	

arduous




	

	

surprisingly deliberate















77.Two years after the legislature’s (i) ________ approval of the community arts center, construction came to an equally public standstill, largely due to the unforeseen hemorrhaging of the (ii) ________ funds at the hands of spendthrift leaders.




















	

Blank (i)




	

	

Blank (ii)









	

scorned




	

	

stolen









	

heralded




	

	

exacerbated









	

ratified




	

	

appropriated















78.Incensed, and perhaps spooked, by the implications of the bureau’s purportedly (i) ________ inquisitions, the Hollywood film director shuttered his studios, suspended production of numerous projects, and (ii) ________ with his wife to Europe.




















	

Blank (i)




	

	

Blank (ii)









	

suspicious




	

	

immigrated









	

benign




	

	

decamped









	

risqué




	

	

pandered















79.The relationship between the two leaders has gone from positively (i) ________ to chilly at best, not least because the recent arms scandal threatens to (ii) ________ the mutual trust that has been held on both sides for years.




















	

Blank (i)




	

	

Blank (ii)









	

peaceful




	

	

bolster









	

reverent




	

	

erode









	

congenial




	

	

fester















80.In an age of near-instantaneous fact checking, political candidates must be careful of making spontaneous statements intended to appease a crowd, as any fictitious claim will inevitably be found to be ________.
















	

dull









	

bogus









	

genuine









	

unnecessary









	

unfamiliar















81.His grandmother’s house was always a bedlam of porcelain figurines, collector’s spoons, and other (i) ________ doodads. But it hardly would have been (ii) ________ to tell her that he thought her choice of décor was vulgar; in fact, he had to think (iii) ________, because the avaricious youth was gunning for a big birthday present from her.
























	

Blank (i)




	

	

Blank (ii)




	

	

Blank (iii)









	

tacky




	

	

discerning




	

	

amicably









	

vitreous




	

	

rancorous




	

	

tactically









	

grizzled




	

	

doting




	

	

duplicitously















82.The captain (i) ________(ii) ________ for as long as he could, but eventually the crew became frustrated with the small portions of mead and the dearth of plunder, and decided to take matters into their own hands.




















	

Blank (i)




	

	

Blank (ii)









	

dissuaded




	

	

sea change









	

warded off




	

	

mutiny









	

depreciated




	

	

helmsmanship















83.Of course, we would all like to believe that our every success is of our own manufacture, but to believe that is to neglect the (i) ________ element present in all lives, beginning with a birth lottery that assigns to some such gifts as intelligence and to others such (ii) ________ as wealth.




















	

Blank (i)




	

	

Blank (ii)









	

common




	

	

encumbrances









	

inchoate




	

	

dispensations









	

serendipitous




	

	

piques















84.The eyes of the mantis shrimp have more types of photoreceptors, or color-detecting cells, than those of any other animal on the planet. While one would think that this would allow the mantis shrimp to better (i) ________ colors, researchers have found this to be (ii) ________.




















	

Blank (i)




	

	

Blank (ii)









	

improve




	

	

baseless









	

discriminate




	

	

obvious









	

distort




	

	

illiberal















85.Jackson’s supporters praised his earthy speech as evidence of his common touch, while his (i) ________ condemned it as (ii) ________.




















	

Blank (i)




	

	

Blank (ii)









	

interlocutors




	

	

vulgar









	

detractors




	

	

obtuse









	

contemporaries




	

	

genteel















86.Economists have developed such sophisticated and (i) ________ mathematical tools for modeling human behavior that other social scientists often employ those tools to model and help (ii) ________ even decisions that have no obvious economic consequences.




















	

Blank (i)




	

	

Blank (ii)









	

eclectic




	

	

interpolate









	

populist




	

	

extrapolate









	

versatile




	

	

explicate















87.Patients who stop taking antibiotics when symptoms subside contribute to the evolution of drug-resistant strains, because an incomplete course of treatment spares the most ________ bacteria.
















	

widespread









	

immature









	

robust









	

benign









	

notorious















88.Children who are recognized as preternaturally intelligent often go on to fulfill their early promise, contrary to the stereotype of maladjusted ________ wasting their gifts.
















	

prodigies









	

teenagers









	

cranks









	

theorizers









	

pragmatists















89.Freud’s structural model of the psyche should be understood as (i) ________ device, useful for inciting and guiding discovery, rather than as an attempt to (ii) ________ physical relationships among parts of the human brain.




















	

Blank (i)




	

	

Blank (ii)









	

a heuristic




	

	

dictate









	

a literary




	

	

ameliorate









	

an allegorical




	

	

represent















90.The silent-film pioneer Harold Lloyd made a virtue of the (i) ________ limits of his day, playing men so (ii) ________ it was easy to imagine it was the character rather than the medium who lacked a voice.




















	

Blank (i)




	

	

Blank (ii)









	

artistic




	

	

avant-garde









	

commercial




	

	

diffident









	

technical




	

	

reluctant















91.When first introduced by senior management, the new boss was viewed as a figurehead at best, but after months of watching him shake up the office hierarchy and double productivity, even the most ________ of his employees was astonished at what he was able to accomplish.
















	

scrutinized









	

clueless









	

skeptical









	

senior









	

resolute















92.Critics of media consolidation say that it has resulted in both a (i) ________ of unique viewpoints and a lack of local news coverage: conglomerates will often discuss the same issues and talking points across all platforms, while (ii) ________ events are no longer covered by smaller media organizations that can’t afford to (iii) ________ enough full-time reporters.
























	

Blank (i)




	

	

Blank (ii)




	

	

Blank (iii)









	

banality




	

	

elaborate




	

	

staff









	

deviation




	

	

domestic




	

	

imply









	

scarcity




	

	

regional




	

	

broadcast















93.Just as Philip K. Dick’s acclaimed science fiction shows his gift for dystopian fantasy, so too his early efforts at mainstream novels (i) ________ his ability to represent the more (ii) ________ world.




















	

Blank (i)




	

	

Blank (ii)









	

attest to




	

	

ebullient









	

belie




	

	

quotidian









	

gainsay




	

	

fantastical















94.The independent audit showed that the company was not ________, let alone flourishing, as its initial report to its stockholders tried to aver.
















	

copious









	

evasive









	

thriving









	

unprecedented









	

solvent















95.A business that, when it receives a requisite amount of regulatory pressure, (i) ________ its own non-compliance with industry safety standards with yet another series of suspect omissions, is of the most highly (ii) ________ variety.




















	

Blank (i)




	

	

Blank (ii)









	

imbues




	

	

laudable









	

verifies




	

	

contrived









	

supplants




	

	

contemptible















96.Unfortunately for the young hire, the amiable, gregarious air of his boss during the initial interview belied a vastly more ________ style on the job, a fact that he learned to his chagrin within the first few days of employment.
















	

draconian









	

friendly









	

fatuous









	

illicit









	

nonplussed















97.(i) ________ comprehension of the character of Italian wine is impeded not only by labyrinthine complexities of vineyards and varietals, but also by fluctuations in environmental conditions from year to year, which render even the most reliable vintages subject to (ii) ________.




















	

Blank (i)




	

	

Blank (ii)









	

An exhaustive




	

	

efficient taxonomy









	

A futile




	

	

remarkable variance









	

An irredeemable




	

	

mitigating circumstances















98.Added to the (i) ________ with which the clerk seems to treat his clients is what appears to be a more general lack of respect for his office; he seems to treat the whole thing as if it were some grand (ii) ________.




















	

Blank (i)




	

	

Blank (ii)









	

casual nonchalance




	

	

gesture









	

profound meticulousness




	

	

farce









	

idle envy




	

	

tirade















99.According to critics, the novelist’s latest effort, with its dry pedantry and humorless presentation, managed to make a seemingly (i) ________ subject matter into (ii) ________ collection of poorly constructed sentences.




















	

Blank (i)




	

	

Blank (ii)









	

engaging




	

	

a worthy









	

affectless




	

	

a tired









	

dogmatic




	

	

an instructive















100.The more deeply one delves into the relevant literature, the more apparent it becomes that psychoanalysis is a practice (i) ________. Even tenets that some might deem (ii) ________ to the general philosophy, such as the notion that the human psyche is primarily governed by conflicting desires and is formed in large part by early childhood experiences, are by no means accepted as gospel, even by some of its most (iii) ________.
























	

Blank (i)




	

	

Blank (ii)




	

	

Blank (iii)









	

teeming with ridicule




	

	

critical




	

	

esteemed beneficiaries









	

devoid of substance




	

	

immaterial




	

	

quarrelsome factions









	

rife with contention




	

	

anathema




	

	

seasoned practitioners















101.The pair’s apparent antagonism could easily be written off as (i) ________ pure and simple, but further scrutiny should render (ii) ________ the fact that the rivalry also confers a fair amount of (iii) ________, insofar as it provides each an opportunity to derive inspiration and motivation from the other.
























	

Blank (i)




	

	

Blank (ii)




	

	

Blank (iii)









	

hypocrisy




	

	

useless




	

	

worthless pride









	

antipathy




	

	

patent




	

	

mutual benefit









	

flagrancy




	

	

spurious




	

	

tacit disagreement















102.In this day and age, side show barkers, competing with the unfathomable number of spectacular oddities daily displayed on the internet for free, must increasingly lard their pitches with flights of fancy and soaring ________, arching far beyond reality, to fill the seats in their arcades.
















	

tit for tat









	

parables









	

conundrums









	

innuendos









	

hyperboles















103.(i) ________ the law had little impact, but it was (ii) ________ by subsequent legislation providing funding and enforcement.




















	

Blank (i)




	

	

Blank (ii)









	

Justifiably




	

	

rendered moot









	

Unbelievably




	

	

given teeth









	

Initially




	

	

kept at bay















104.Evoking both horror and joy in its audience in equal measure, the opera became an instant classic of ________ technique.
















	

macabre









	

figurative









	

articulate









	

counterpoint









	

contrived















105.The famous Notre Dame cathedral in Paris took almost 200 years to complete; this immense architectural effort included the first notable use of a flying ________, but this renowned feature was not part of the original design and was only employed when the walls forming the nave began to crumble and needed additional support.
















	

partition









	

albatross









	

hallmark









	

buttress









	

trademark















106.While no single empirical investigation can ever conclusively prove the (i) ________ of a theory, the fact that the data are (ii) ________ findings from over a dozen independent labs worldwide bodes well for the framework’s resilience.




















	

Blank (i)




	

	

Blank (ii)









	

rationality




	

	

consistent with









	

veracity




	

	

founded on









	

candor




	

	

antithetical to















107.A full account of the complexities of sleep, sought after by scientists, philosophers, and mystics for millennia, continues to elude us. That we are still so ignorant about a topic so (i) ________ to our daily lives is at once fascinating and (ii) ________.




















	

Blank (i)




	

	

Blank (ii)









	

mysterious




	

	

deeply humbling









	

obscure




	

	

fully impenetrable









	

pertinent




	

	

totally blatant















108.Mozart’s brief life exemplified a discrepancy between fame and means: as his musical stardom (i) ________ beyond measure, his income (ii) ________.




















	

Blank (i)




	

	

Blank (ii)









	

abated




	

	

grew exponentially









	

waxed




	

	

remained exorbitant









	

dwindled




	

	

barely stirred















109.Finally, after refusing for a decade, the family patriarch, weakened by age and infirmity, surrendered to the impassioned pleas of his avaricious nieces, and gave his ________ to the risky investment stratagem.
















	

assent









	

ascent









	

dissent









	

descent









	

assertion















110.Even thrill-seeking visitors to amusement parks will avoid those attractions with a reputation for real (i) ________, like those at the now-shuttered Action Park. These patrons want not danger but its (ii) ________, a ride that (iii) ________ but is in fact perfectly safe.
























	

Blank (i)




	

	

Blank (ii)




	

	

Blank (iii)









	

peril




	

	

complement




	

	

satisfies









	

titillation




	

	

simulacrum




	

	

mollifies









	

lavishness




	

	

abettor




	

	

terrifies















111.Desktop publishing allows (i) ________ to do for themselves the work once reserved for professionals whose (ii) ________ or other training developed design skills along with narrow technical mastery.




















	

Blank (i)




	

	

Blank (ii)









	

dilettantes




	

	

sensibility









	

artisans




	

	

acumen









	

idealogues




	

	

apprenticeship















112.There was much to admire about the singer’s voice, but her abilities as a performer were not as (i) ________ as those of the singer who followed, whose stage presence was far more (ii) ________.




















	

Blank (i)




	

	

Blank (ii)









	

unremarkable




	

	

charismatic









	

hackneyed




	

	

pedestrian









	

arresting




	

	

experienced















113.The contradictions in the philosopher’s life were more (i) ________ because he was celebrated for his prodigal intellectual (ii) ________ that led to his profound insights.




















	

Blank (i)




	

	

Blank (ii)









	

insightful




	

	

acumen









	

confounding




	

	

vacuity









	

unpremeditated




	

	

veracity















114.If impact on one’s contemporaries is the test of (i) ________, Flann O’Brien’s The Third Policeman cannot be said to be among the most significant postmodern novels, as it went unpublished and unread for 27 years. The literary theorist Keith Hopper, though, appeals to standards other than peer (ii) ________ when he argues persuasively that The Third Policeman is among the most important of early postmodern works, not least because of its deep subversion of both enlightenment and modern traditions in literature.




















	

Blank (i)




	

	

Blank (ii)









	

eminence




	

	

currency









	

modishness




	

	

influence









	

conversance




	

	

dissolution















115.One liberal activist asserts that politicians’ tendency to (i) ________ talk of class warfare stems largely from a communal state of denial, a refusal to accept that we already occupy a highly (ii) ________ society.




















	

Blank (i)




	

	

Blank (ii)









	

denigrate




	

	

socialized









	

besmirch




	

	

balkanized









	

encourage




	

	

politicized















116.In the course of a transatlantic voyage following the First World War, he magically acquired an honorific title of “Count” as well as a “von” in his name, a development due to his aquiline nose and social (i) ________ rather than his (ii) ________ genetics, which lacked any distinction, and he (iii) ________ successfully enough in New York City to parlay this charade into a small fortune.
























	

Blank (i)




	

	

Blank (ii)




	

	

Blank (iii)









	

arrogance




	

	

peasant




	

	

coalesced









	

deftness




	

	

patrician




	

	

dissembled









	

maladroitness




	

	

perturbing




	

	

disseminated















117.There is little agreement among specialists about whether the Second Amendment to the United States Constitution provides ________ guarantee of a right to bear arms for private citizens, or whether it was instead meant to allow the populace to protect itself in lieu of a military.
















	

an earnest









	

an amended









	

a questionable









	

a defeasible









	

an ironclad















118.The writer Lillian Hellman honestly called her disingenuous argumentative strategy “the nobility racket”: a ________ that involved taking the moral high ground no matter how removed from the subject at hand.
















	

philosophy









	

sophistry









	

sinecure









	

volubility









	

serendipity















119.The fitness guru, seemingly an advocate of overall salubrious living, often, late at night and behind closed doors, ________ his integrity by consuming vast quantities of sugar and chemical-riddled junk food.
















	

ridiculed









	

restored









	

undermined









	

redacted









	

insinuated















120.The recent discoveries of unexploded World War II munitions buried just beneath houses and roads in European cities is very (i) ________, since one can easily imagine becoming a (ii) ________ of a war that ended decades ago.




















	

Blank (i)




	

	

Blank (ii)









	

exhilarating




	

	

hero









	

disquieting




	

	

martyr









	

demeaning




	

	

casualty















121.It may be surprising that even perennially (i) ________ reporters have had misgivings about entering the war zone; their (ii) ________ at the prospect can only be a reflection of the heightened (iii) ________ that pervades the region.
























	

Blank (i)




	

	

Blank (ii)




	

	

Blank (iii)









	

professional




	

	

trepidation




	

	

rhetoric









	

dauntless




	

	

excitement




	

	

peril









	

foreign




	

	

skepticism




	

	

awareness















122.One does not generally associate teenagers with (i) ________. Jean, however, exercises a self-discipline that verges on (ii) ________. It is unclear whether this is a testament to a particularly conservative upbringing or a reaction against an excessively (iii) ________ one.
























	

Blank (i)




	

	

Blank (ii)




	

	

Blank (iii)









	

silent obedience




	

	

asperity




	

	

illiberal









	

polished urbanity




	

	

punishment




	

	

permissive









	

practiced restraint




	

	

asceticism




	

	

meddlesome















123.Unexpectedly, the actor’s (i) ________ behavior did little to (ii) ________ his reputation as a family man, a reputation (iii) ________ by his exceptionally skilled team of publicists.
























	

Blank (i)




	

	

Blank (ii)




	

	

Blank (iii)









	

dissolute




	

	

assuage




	

	

cleverly subverted









	

impudent




	

	

damage




	

	

easily refuted









	

paternal




	

	

temper




	

	

carefully cultivated















124.Now that fresh produce has become (i) _________—markets and stands in cities throughout the world boast dozens of varieties of fruits and vegetables for customers to choose from—many (ii) ________ that were once the inevitable result of nutritional deficiencies are now entirely (iii) ________.
























	

Blank (i)




	

	

Blank (ii)




	

	

Blank (iii)









	

salubrious




	

	

maladies




	

	

organic









	

ubiquitous




	

	

reactions




	

	

dietetic









	

comestible




	

	

cultivars




	

	

preventable















125.Despite her (i) ________ position on tax reform, the senator was not (ii) ________ to strike a concessionary tone when she debated the issue with her opponents.




















	

Blank (i)




	

	

Blank (ii)









	

conservative




	

	

loath









	

fiduciary




	

	

permitted









	

hardline




	

	

qualified















126.There seems to be (i) ________ the practice of medicine in the United States: while it is the duty of medical professionals to maintain the health of their patients, the same professionals stand to profit more from their patients’ (ii) ________.




















	

Blank (i)




	

	

Blank (ii)









	

a protest against




	

	

infirmity









	

an aversion to




	

	

inattentiveness









	

a paradox in




	

	

uncertainty















127.Whereas early work in the field of spectroscopy (i) ________ the dispersal of visible light by a prism, the concept was later (ii) ________ to (iii) ________ any and all interactions with radiative energy, including electromagnetic radiation, pressure waves, and the kinetic energy of particles.
























	

Blank (i)




	

	

Blank (ii)




	

	

Blank (iii)









	

contrasted with




	

	

expanded




	

	

affirm









	

arose from




	

	

transformed




	

	

endure









	

focused on




	

	

amended




	

	

include















128.While Abdul’s ________ with his children made him well loved, he worried what too much laxity might cost him in their teenage years.
















	

complacence









	

sternness









	

satisfaction









	

equanimity









	

permissiveness
















Text Completions Answers



1.Apportioned. You are told that football is by far the most popular sport in Europe. The word “whereas” then creates a contrast: the U.S. fans are evenly split among their many sports. “Regarded,” “inspired,” and “enjoyed” are all traps related to sports or fandom, but don’t properly express the sentence’s intention that the popularity is split. “Measured” is close, but doesn’t quite divide things appropriately. “Apportioned” means divided and allocated; it is the correct answer.


2.Delusion. The second half of the sentence states that it would take a miracle for a person to get to another solar system. In other words, it’s more or less impossible. “Dementia,” “catastrophe,” and “hysteria” do not reflect this meaning. And while space travel would be an incredible “innovation,” innovation also doesn’t express the proper meaning of this sentence. “Delusion,” meaning a belief that is maintained despite being contradicted by reality, is the best fit.


3.Crowned, dismissed. “Peculiarly enough” indicates that the blanks oppose each other, and “best English language playwright” indicates that blank (i) must be positive, so blank (ii) must be negative. “Crowned” is the only positive word choice for the first blank and is the correct answer; “stigmatized” means condemned, and “castigated” means scolded. In the second blank, “deified” has a positive tone and doesn’t express the contrast that the sentence suggests, while “demonized” is much too strong an attitude to direct towards someone for lacking education; “dismissed” is a more appropriate word and the correct answer.


4.Abridged, complementary. Certain “versions of novels and essays” cut out important parts, or “excise essential elements.” Then, “to fully understand the intent of the original,” students would have to “supplement,” or add to, “their reading with [some type of] sources.” So the text versions described by blank (i) are lacking parts of the original and the reading sources described by blank (ii) provide some of what is lacking. An “abridged” source is one that has been shortened, and “complementary sources” would enhance or support this shortened version. Be careful of the homophone “complimentary,” which means either admiring or given free of charge, neither of which works in blank (ii). “Compelling” sources would either evoke interest or inspire conviction. While the supplemental reading might do so, no indication of either additional meaning is given in the sentence, and this choice fails to address the problem that “abridged versions” create for students. “Annotated versions” have additional notes of explanation; such versions would be less likely to require supplementation to understand, not more. Finally, there is no indication that the “[blank (i)] versions of novels and essays” are “antedated,” or dated prior to their actual date.


5.Sophisticated. The blank should be a positive word to accompany “alluring.” What’s more, it should be something that contrasts the “simple and quaint” nature of rural America. Given this, you need a positive word for something not simple. “Lascivious” means overtly and often inappropriately sexual; this doesn’t fit the sentence. “Foreign” may appear to go along with “expatriate;” it’s easy to fall into such a theme trap if you are not in the habit of pointing to explicit clues in the sentence (“simple and quaint,” in this case). “Alien” is similar in meaning to “foreign” and is also a slightly negative word. Likewise, “alienating” is not a positive word—in this case, it would lead to an impression that the young lad felt unwelcome in Paris. “Sophisticated,” with its sense of polished culture, offers the best contrast to “simple and quaint.”


6.Cited, correct. The first sentence states a fact about life expectancy that relates to the claim that the world is improving with time. Clearly this would be true if life expectancies have increased with time, making “cited” a perfect fit for blank (i). Neither “disregarded” nor “embodied” fits with the idiom “as evidence.” The second blank, however, says that this statistic is slightly misleading if one considers a second fact (i.e., that most children died in childbirth). While you might “prepare” for the fact or “read” for the fact, that does not change the fact. But if you “correct” for the fact that most children died in childbirth, then the new life expectancy statistic would change.


7.Preposterous. The sentence states that two things were thought to be equally unlikely in 1986. But today, while one of those events still seems quite far-fetched, the other is commonplace, making the argument sound absurd or “preposterous.” “Preternatural” means what is beyond normal or natural and is used to express mysterious or exceptional events. This argument isn’t really mysterious as much as it is wrong. Note that “prescient” (ability to foretell the future) is the opposite of what the sentence requires—because the prediction about the future was entirely wrong, it does not sound “prescient.” To “preordain” is to decide or determine an outcome in advance. While the fact that banking transactions from home are commonplace now could possibly imply that the transactions were “preordained,” the argument against such a possibility would neither be preordained nor sound preordained. Finally, “pithy” means concise, and nothing in the sentence suggests that the argument is concise.


8.Lionize. The bad news: there are a lot of hard words in this question. The good news: the sentence itself is relatively straightforward. There is a “widespread tendency” to do something, and that tendency “stems from [a] need to venerate” somebody. So the tendency described by the blank should be similar to “venerate.” “Castigate” means to punish or reprimand—the opposite of what you need. “Remember” and “appreciate” both seem to work, if somewhat imperfectly, but neither is strong enough to match “venerate” (treat with deep respect or awe). These are spin traps—close, but not quite right. “Indemnify” is a complicated word. It can mean to free someone from responsibility for some as yet uncommitted wrongdoing—sort of like handing someone a “Get out of jail free” card. It can also mean to promise money against a potential loss, as is the case with insurance. Fortunately, neither of these meanings, complicated though they are, aligns with “venerate.” Only “lionize”—to grant someone celebrity status—works in this context.


9.Cerebral, intellectual. From the beginning, the passage sets up a dichotomy between the work of the brain and the work of the body. The second sentence compares how “[blank] work strains the mind” to how “physical work strains the body,” and so blank (i) should be a word describing the “musings of a mathematician” as they compare to “the physical labor of a carpenter.” Here, again, the word should be something that goes along with academic and “cerebral.” “Quotidian” means everyday, common, or unextraordinary. “Extraordinary” is the opposite of “quotidian” and doesn’t offer the counterpoint to “physical labor” necessary for this blank. “Intellectual,” however, fits blank (ii) perfectly.


10.Amusing, caustic. The clue “usual” means that the two blanks must match “humorous” but acerbic—and in that order. “Slanderous” and “serious” are, respectively, unrelated to and the opposite of humorous, making “amusing” the only possible answer choice for the first blank. Similarly, “acerbic” needs to pair with a word that means something similar to sharp or sarcastic. “Caustic” is a perfect synonym, while “considerate” is the opposite of what is needed and “hysterical” might match the first blank but not the second.


11.Circle. The clue “in turn” suggests that the event occurs continuously, making “circle” the best answer choice in this sentence. Incorrect answers “irony” and “comedy” add an idea—humor—that was not indicated by the sentence. Finally, “serendipity” and “vicissitude” are somewhat antonyms of one another with the first being a happy occurrence and the second being an unhappy one. However, the sentence does not suggest that the accusing done by each generation is anything other than matter-of-fact.


12.Abreast of. The word “although” indicates that what the professor is doing is unusual or not required of a retired person. “Takes pains” also indicates that what she is doing is difficult. To keep “abreast of” a topic is to remain current and is therefore the correct answer. “Akimbo” means in a hands-on-hips stance, which would probably be a pain but isn’t something the professor could do “to the latest developments in her field.” “Obtuse” (slow-witted) does not fit the desired meaning. There’s no reason to believe that the professor is “subservient to” the developments in her field. And finally, “askance” means with a look of disapproval, which also doesn’t fit in this sentence.


13.Proponent, catalyst. The woman in this sentence “finally got the bill onto the legislative agenda,” so she is definitely an advocate, or “proponent,” of the legislation. She’s not a “critic” of the legislation, but she’s also not an “apologist” since there’s no clue in the sentence to believe that the legislation is controversial. In blank (ii), “mercenary” means she would be paid for her efforts and “lackey” means she would be doing this subserviently for someone else. Either option might work if there were additional clues about the subject, but without those clues, “catalyst,” someone who creates change, is the best option and the correct answer.


14.Trumpet, taciturn. Jeremy is successful, but it takes his family a long time to discover his accomplishments. Thus, Jeremy does not brag—or even report the facts! To “trumpet” is to talk loudly or report something to everyone and is a better option than “demarcate,” set the boundaries of, or “whitewash,” cover up some unpleasant facts. In the second blank, only “taciturn,” which means quiet, works, Jeremy doesn’t talk much at all. “Improvident” means not providing for the future, and “dissolute” means lax in morals or licentious. Nothing in the sentence indicates either description.


15.Acerbic, impecunious. Standing alone, any of the choices for the first blank could describe “witticisms,” which are witty remarks. Remarks could be “innovative” (original or creative), “acerbic” (sharp or sarcastic), or “inimical” (harmful or hostile). However, the remarks are described as “cutting remarks” after the semicolon, so the first blank should match that characterization. “Cutting” is a synonym for “acerbic,” so this is the best choice. “Inimical” is too negative, conflicting with the idea that “Wilde catapulted to sudden fame both because of and despite” his remarks. The second blank is part of a two-part list: “he died __________ and sickly.” The cause is given in the preceding two-part list: “the cutting remarks … led to his financial and physical ruin.” A two-by-two structure like this stays in order, meaning that “financial … ruin” is related to the blank, just as “physical ruin” is related to “sickly.” Only “impecunious,” which means poor or destitute, fits. Neither “pallid” (pale) nor “aghast” (horrified) fits with “financial ruin.”


16.Emblematic of, pragmatic, posit. The end of the sentence states that Hursthouse puts forth the same views as many other virtue ethicists. So in the first blank, the sentence requires something like representative of. “Emblematic of” is a perfect fit here and the correct answer. “Breaking away from” conveys the opposite meaning and “enigmatic to” (difficult to understand) also does not fit the desired meaning. It’s later stated that Hursthouse thinks ethics is neither situational nor utilitarian—the next part of the sentence will have a first part that matches up with situational and a second part that matches up with utilitarian. (GRE sentences often use a pattern of mentioning two things, and then giving more information about those two things in the same order.) For example, “Base one’s judgments on subjective concerns” refers back to a situational approach to ethics and a “__________ weighing of pain and pleasure” refers back to a utilitarian (or practical) approach. Thus, “pragmatic,” which means practical, matches better than “quixotic,” which means impractical, or “grandiloquent,” which means pretentious. Finally, critics agree with the idea that virtue ethicists seek to enshrine their own prejudices, so in the third blank, the sentence needs a word like say or claim. “Posit” is the only match since “deny” is the opposite of what the sentence intends and “cajole” (persuade) does not fit the context.


17.Roundly, panned. The sentence indicates that there wasn’t a single positive comment from any critic; in other words, the film was unanimously criticized or 100% disliked. “Mendaciously” means dishonestly, and there’s no clue to indicate that the critics were being dishonest. Similarly, there’s no clue in the sentence to indicate that anyone was “warily” suggesting anything. “Roundly” means emphatically or so thoroughly as to leave no doubt. “Panned” means reviewed negatively and is almost always used to refer to plays, movies, etc., so the word is a perfect match here—to be roundly panned would mean reviewed 100% negatively, which is exactly what the sentence suggests. “Lauded” and “venerated” are both positive and would indicate that the critics enjoyed the movie; clearly that’s not the case here.


18.Aesthetics. The sentence states that “the distinction between architecture and engineering professions” is that architecture must consider something in addition to “functionality.” Later, the sentence indicates that architectural clients base decisions more on beauty than practicality, so architecture must consider visual appeal as well as functionality. The word that best fits this meaning is “aesthetics.” “Insouciance,” meaning carelessness or indifference, does not fit. “Utility,” “price,” and “profundity” are all characteristics that architects might consider, but they don’t take into account the fact that clients base their decisions on beauty.


19.Insensibly. The phrase “once considered” suggests that whatever follows is no longer thought to be true, so the blank will oppose the clue “capable of genuine imitation” and go along with the idea that the bearded dragons were thought to be acting “without understanding the action’s deeper significance.” An appropriate choice, then, will mean something like “mindlessly.” “Listlessly” means unenergetically, while “actively” means the opposite. “Consciously” is a reversal trap. To do something “attentively” means to do so with great interest. This leaves “insensibly,” which means unaware or incapable of perception.


20.Coda. There are two possibilities for the blank: something like a bad ending (yet another bad event occurred in December) or something like an inconvenience (relative to the other “devastating” events). A “coda” is an ending that sums up what came before, which, in this case, was pretty bad. A “rampage” is bad but does not fit grammatically before the word “to,” nor does it correctly describe an earthquake—rather, murderers or mobs go on rampages. A “prologue” would be at the beginning of the year, not at the end. “Catharsis” means an emotional release and doesn’t fit the context of a natural disaster, which would build up emotional distress rather than release it. And finally, “homily” is a lecture, sometimes religious, but this doesn’t fit the context of a natural disaster.


21.Presciently, simpatico. The sentence indicates that the two writers very much thought alike. “Presciently” means seeing into the future or as though seeing into the future, which is exactly what the writers were able to do while anticipating each other’s letters. “Ominously” puts too negative of a spin on the anticipation, and “anachronistically,” which means out of time, does not fit the context of the sentence. “Simpatico” matches the idea of being of one mind better than “providential,” favorable or auspicious, or “shrewd.”


22.Inured to. “Casting a blind eye to” suffering means that these people ignore or pretend not to see the suffering. Thus, they are “inured to” suffering—they are hardened and desensitized as a result of seeing so much of it. Trap answer “exempted” would mean that the people described are no longer personally subject to the suffering, which the sentence does not indicate. Because they ignore suffering, they also wouldn’t be “maudlin” or “effusive,” which are about expressing strong feelings. Finally, “dominant over” does not fit idiomatically since you can’t become dominant over suffering.


23.Coalesced. Since the group overcame the “struggle over power” and became “a harmonious team,” the blank needs a word that means came together. “Coalesced” matches perfectly and is the correct answer. “Agglomerated” is a bit of a trap—to agglomerate is to collect or form into a mass or group. Since the people were already in a group, the word is inappropriate (agglomerate is also used more for things than for people). “Fractured” is the opposite of coming together. The other options are difficult words but are used in contexts very different than group harmony: “syncopated” means either the shortening of a word or the displacement of beats in a musical piece and “amortized” means reducing a debt.


24.Considered. The newcomers and the long-time fans are divided in their opinions. The newcomers were happy with the show, so the long-time fans must have been unhappy: they thought that “the storyline” was “unfinished.” Only “considered” matches this meaning. “Appreciated” is a reversal trap. The fans did not “generate,” “examine,” or “secure” the storyline.


25.Finishing, trying. Since the novel will take “innumerable hours to review and edit,” the author is far from completing, or “finishing,” it. “Inscribing” (writing) is a theme trap and “rejecting” does not convey the desired meaning. The second blank will agree with the clue that immediately follows: “the book’s length” and its “convoluted plot.” Therefore, it will be hard, or “trying,” to finish the book. “Hardy” (strong, resilient) and “redundant” do not match the required meaning.


26.Inveigle. The word “despite” indicates that there is a contrast between what the salesman is attempting to do and how the couple is responding. The salesman is attempting to give them false compliments in order to get the couple to buy a car, but his tactic isn’t working. “Inveigle” means to flatter or charm someone into doing something and is the correct answer. “Support,” “deliberate,” “marginalize” (relegate to an unimportant position), and “hector” (to bully, torment) do not convey this same meaning.


27.Inform. The poet’s childhood memories color, or influence, her work. The sentence needs a similar word for how war influences her poetry. “Inform”—to give substance, character, or distinction to—can be used in this way. “Mimic” is a trap answer choice: it may be possible to say that her poetry mimics her experiences, but not that her experiences mimic her poetry (rather, her experiences are mimicked in her poetry). “Invalidate” is too strong for this sentence nor does it indicate the proper meaning. “Defer” is not used properly (something defers to something else) nor would war likely defer to poetry. And “presage,” which means to foreshadow, does not pair with color as well as “inform” does.


28.Erroneously, unbeknownst. Since the peanut is not really a nut (it is a legume), it is being erroneously, or mistakenly, referred to as such. “Deftly” is the opposite of what the sentence suggests, and “archaically” would mean that the peanut used to be referred to as a nut. “Unbeknownst to” means unknown by, which would explain why people are making this mistake. “Abhorrent” is too strong of a term for this sentence, nor does the sentence indicate that anyone is disgusted by peanuts. “Consanguineous” comes from the Latin roots con- (with) and sanguis (blood) to mean of the same blood or related: it’s hard to be blood-related to something that has no blood!


29.Tremulous, chary of. All of the clues in the sentence are about being scared, so “tremulous” matches best in blank (i). Neither “coltish” (playful) nor “cumbersome” (complicated, hard to handle) fixes the meaning of the sentence. The sentence states that the child finds diving even more frightening than water in general, so “chary of” (suspicious or slightly scared of), a less extreme version of frightening, fits. “Repulsed by” is too strong of a word for blank (ii) and “beguiled by” would mean the child was deceived by the water.


30.Sentries, fecund, progeny. The sentence states that soldier ants guard the colony and supply it with food, “thus acting as both ________ and laborers.” In this sentence pattern, the first blank matches up with “guard the colony” and “laborers” matches up with “supply it with food.” “Sentries,” or guards, matches perfectly and is the correct word for blank (i). A “sage” is a wise scholar and a “sycophant” is a lackey or flatterer, neither of which fits the meaning of the sentence. The sentence then states that the queen can continually “populate the colony,” so “fecund” (fertile) goes in blank (ii) and progeny (offspring) goes in blank (iii). “Efficacious” means effective and “imperious” means domineering, but the sentence does not indicate that this would describe the queen ant. “Forebears” means ancestors, which is the opposite of what blank (iii) requires. Finally, “harbingers” means a herald or a forerunner of something else, but producing signs of something else would not help to populate a colony.


31.Ephemeral, heralded. Since the government lasted only about two months, it was “ephemeral,” or short-lived. “Equivocal,” or ambiguous, and “omnipotent,” or all powerful, could describe a government, but this sentence gives no such indication of either of these meanings. Despite the fact that it was short-lived, the government was regarded, or celebrated, as the emergence of a powerful working class: only “heralded” matches. The expression “discounted as X” might work if the final part of the sentence held a more negative tone: the idea was discounted as too impractical. But “the emergence of a powerful working class” has no such negative connotation. Similarly, “recanted,” or renounced, would only work if the final part of the sentence was something that was being disavowed.


32.Complications, stouter, a concomitant. The first sentence says that taller turbines would be better, but there is some contrasting negative element. In other words, the “engineers are facing” some “complications.” Neither “flaws” nor “supplements” conveys this idea of difficulty in building the turbines. In the second sentence, “Taller towers necessitate ________ bases, requiring the current width to be nearly doubled,” suggests that the second blank should mean wider. The only choice for the second blank that can mean “wider” is “stouter.” “Equitable,” meaning fair, and “unobtrusive” do not mean anything like “wider.” The final sentence says that the wider sections lead “to a(an) ________ issue” because they are too large to transport on modern highways. Therefore, the third blank has to mean something like additional. Although “a theoretical issue” has a nice sound to it, the problem is very real, so “theoretical” cannot be correct. “Objective” used as an adjective means unbiased, which does not fit the intended meaning. “Concomitant,” which means accompanying (often in a subordinate way), matches well.


33.Obsequious. “Plaudits” are praise (note the similarity to “applause”), which matches the idea of praise being “heaped upon him” on a “prolonged and elaborate farewell tour.” Additionally, the negative certainty of “no one thought the plaudits heaped upon him were ___________” matches in degree the positive certainty of “admired by all.” If he was admired by all, then no one would think that the praise was undeserved or inappropriate. Thus, “deserved” represents a reversal trap. “Obsequious,” meaning attentive to an excessive degree, puts a negative spin on the praise, which is what “no one” would think; this is the answer. “Derivative” as an adjective has several meanings, depending on what it is describing: it is typically applied to people or the works of art they produce (imitative) or can apply to a financial product (having a value based on some asset). Here, “derivative” describes “plaudits,” so it most likely means originating from or based on something. Because the blank is not getting at whether the praise is original, but rather whether it is appropriate, this choice is incorrect. Both “vestigial,” residual or leftover, and “antiquated,” old-fashioned or outdated, introduce additional meaning not indicated by the sentence.


34.Sanguine, peccadilloes. The sentence states that the man’s personality is pleasing—so pleasing that “it’s hard to be bothered by” something in his past. The first word should match pleasing, and the second should be something negative that others might overlook. “Sanguine” means cheerful and optimistic. Note that “high-handed” might sound positive, but actually means tactlessly overbearing. “Evanescent” (fading quickly, short-lived) is inappropriate to describe a personality. “Peccadilloes” are minor faults or sins—small enough that they might be overlooked if the person has other virtues. “Incendiaries” can mean either bombs or a person who stirs up conflict; the former definition is too strong for the blank, and the latter does not fit the meaning of the sentence. “Achievements” has a positive connotation, while the second blank should convey a negative connotation.


35.Menacing, unprovoked. The Tasmanian devil, a type of wild animal, is “not considered ________ since only a few of its confrontations,” or hostile encounters, “with humans have been _________.” The two blanks have to work together in this sentence, and the second blank is easier. “Unprovoked” is the only choice for the second blank that would reasonably describe hostile encounters with wild animals. “Quixotic,” which means idealistic or unrealistic, does not work because the sentence is talking about real encounters. “Premature” does not fit either. Given that the Tasmanian devil usually only confronts humans when provoked, it is not “menacing,” which is the correct choice for blank (i). Because it is a wild animal, it cannot be considered predictable, so “unpredictable” is incorrect. “Adverse,” which is used to describe something that is harmful because it prevents success, is inappropriate to use in describing a wild animal. You might say that the presence of wild animals is an “adverse” factor, but you would not say that the animals themselves are “adverse.”


36.Verdant, castigated. The sentence indicates that the employee is young and makes mistakes. “Verdant” means either green and lush, like a forest, or new and inexperienced (the use of green as a metaphor, as in, she’s still green at her job). “Banal” means unoriginal, which does not fit with the rest of the sentence, and “sagacious” means shrewd, which is the opposite of how the employee acted. Since the mistake was so expensive, it makes sense that the employee would be “castigated,” or severely criticized. He wouldn’t be “deposed”—that word is for kings, dictators, etc., forced out of power. And the employee would not be “enamored,” or filled with a feeling of love, for the mistake he just made.


37.Facile. The sentence suggests that the idea of bringing about world peace by saying “love one another” is naïve, or oversimplified. “Facile” matches well and has the sense of superficial. Neither “convoluted” (difficult to understand, complicated) nor “impeccable” (flawless) fits the desired meaning. “Amicable,” which means friendly, and “dulcet,” which means sweet and soothing, have a similar problem: while the suggestion might be a friendly and sweet one, those definitions don’t properly convey the idea that the suggestion is naïve.


38.Garrulous. A “euphemism” is a mild or indirect term substituted for one considered too harsh or blunt. Adults referred to the girl with the positive word “precocious,” which means forward or advanced for her age, whereas she really was “overly talkative,” so the blank should mean something like too talkative, or garrulous. “Skittish” could be cast as positive (excitable) or negative (unpredictable, jittery), but neither is a negative spin on “forward” nor “talkative.” The other choices are either neutral, such as “naïve,” meaning innocent or unworldly, or positive, such as “solicitous” (concerned or attentive) and “endearing” (lovable or charming). None of these choices would require a euphemistic replacement. “Garrulous,” then, is the correct choice.


39.Motley, even, sole. This question is an excellent lesson in the principle: don’t add anything to your reading of the sentence that wasn’t there already. The sentence indicates that the first short story collection had many diverse voices and the second collection has “a ________ narrator”—in other words, just one speaker. The word “sole” fits the third blank; neither “lonely” nor “disingenuous” conveys the idea of a single narrator. The first story collection was a “hodgepodge” (jumble), but the second was not a jumble; it was an “even” set of stories. “Insightful” and “facetious” (not serious) are not antonyms for a jumble. For the first blank, “motley” works because it means composed of diverse and often incongruous elements. “Variable” is a trap: a variable hodgepodge of voices would imply that the voices in the first collection can change over time, not that the voices were varied or diverse. And “homogenous” would indicate that the voices were all similar; this describes the second collection, not the first.


40.Reversing. The opening words, “In contrast,” alert you to look for the opposition between “environmental economics” and “ecological economics.” The latter field “positions the human economy as a subsystem of natural economies,” which is the opposite of a system that “subordinates” nature to the economy. The new system is opposite, or “reversing,” the way the old system thought of things. “Corroborating” is a reversal trap for those who missed “in contrast.” “Circumscribing” means to enclose or encircle and is thus inappropriate. “Ameliorating” is the process of mitigating or making better and is not a good match. “Refuting,” a spin trap, is the most tempting incorrect answer, but the sentence only provides evidence for opposition, not contradiction.


41.Efficacious. Because the semicolon indicates agreement, the blank will agree with “opponents were still able to set aside differences and work across party lines, as is typically necessary to pass productive legislation.” In other words, political opponents were once able to govern effectively despite their differences but they can no longer do so today. “Efficacious” means effective as a means or remedy and so is a good match. “Polemical,” meaning strongly opinionated, and “civil” are not justified by the clue. “Enjoyable” and “immutable,” meaning unchangeable, do not match the desired meaning. Note that “enjoyable” introduces a new idea not present in the original sentence. Don’t assume that the old days were necessarily enjoyable; all you know is that they were effective, or efficacious.


42.Deification, garlands. The straightforward structure and positive spin indicate positive choices for both blanks. “Excoriation” means harsh criticism and is the opposite tone of what the sentence requires. “Praise” is positive but doesn’t match the clue “laid at the altar,” which suggests a more extreme version of a positive word. That leaves the correct answer, “deification” for blank (i). The second blank has two words with negatives meanings: “calumnies” means slander and “obloquies” means abusive language. That leaves “garlands,” the correct answer, a word that is most commonly used to describe a wreath of flowers and leaves worn as an honorable decoration, but can also mean a prize or distinction.


43.Artifices. The clues “bifurcated” and “but” signal a contrast: commercial portrait painters are similar to other painters in some ways, but the blank refers to how they are in some ways different than those other painters (they try to make the subject look more attractive in the painting). The correct answer, “artifices,” means a trickery or deception and fits perfectly with the clue. Trap answers “palettes” and “aesthetics” are related to painting, but don’t match the meaning of the blank. “Artifacts” is a trap word that looks similar to “artifices” but means a historic relic. “Sentiments” is an attitude, but the sentence provides no information about the painter’s attitude or how that would make the subject of the piece more attractive.


44.Pedantry. The correct answer should parallel “dogmatic” and match the negative spin of “enervates rather than inspires.” “Wisdom,” “pulchritude” (beauty), and “wit” are all positive terms that don’t match with the sentence structure. Only “pedantry” (being arrogant in relation to learning) and “parsimony” (stinginess) are negative, and only “pedantry” fits the idea of an uninspiring professor.


45.Minutiae. The correct answer must reflect the clue “petty” and oppose the idea of “lofty goals.” Lincoln felt that McClellan paid so much attention to trivial details, or “minutiae,” that he ignored the big picture. The trap answer “irrelevancies” is incorrect because the “logistical details” are not irrelevant; they are merely minor, or not worthy of so much attention. “Tactics” and “strategy” don’t convey the idea of minor details. And nothing in the sentence suggests that attention was being placed on minor offenses or “peccadilloes.”


46.Appealing shyness, enthralled. As is often the case, the second blank is easier; given the structure, it must match the clue “captivating” in meaning and spin. “Enthralled” is a perfect match here and the correct answer. “Repelled” is far too negative a tone, and “amused,” while positive, does not match the idea of “captivating.” The first blank must parallel “hesitancy and understatement” and also have a positive spin. “Awkward lisp” does not have a positive spin and “overwhelming passion” does not parallel “hesitancy and understatement.” That leaves the correct answer, “appealing shyness.”


47.Conventionality, laudatory. The word “surprisingly” before blank (ii) indicates that the blanks will oppose each other in tone; since the reviewers gave “unabashed approbation,” the second blank should be a positive word, such as receptive. “Laudatory” is a synonym for “approbation” and is therefore the correct answer. “Tepid,” meaning lukewarm, and “deprecating,” meaning to belittle or express disapproval, are not good matches. Given the oppositional structure, blank (i) should be negative. “Ingenuity” is too positive. “Tortuousness,” meaning twisting or crooked, and “conventionality” both have negative connotations. The reviewers “usually pounce on the slightest orthodoxy,” or widely accepted theory, so the best match is “conventionality.”


48.Dissipation, profligate. “Ironically” is a good clue here—the commentator condemned a quality that he himself actually possessed! Both words should be negative, similar in meaning, and match the idea of bankruptcy. “Dissipation” and “profligate” are both related to wastefulness or irresponsible living. “Indolence” means laziness, “probity” means integrity, “antediluvian” means outdated, and “ascetic” means austere. Notice that while some of the other words do have a negative spin, none of the incorrect choices are similar in meaning or match the idea of bankruptcy.


49.A deplorable. This sentence begins with the expression “For all,” an idiomatic way of saying “despite.” The second half of the sentence, then, should contradict the “meticulous preparation” reported in the first half: the student’s grade must have been bad. “Passable” wouldn’t do the job here—it would suggest a decent but not fantastic grade—and “outstanding” is the exact opposite of what you want. “Exacting” means demanding, and while the test must have been exacting on the student, his grade could not be described as such. “Surprising” is the most pernicious option, because the student was likely very surprised by a grade that did not reflect the work he put into studying; this choice does not make clear, however, that the student’s grade was terrible. “Deplorable,” on the other hand, fits the bill—it means surprisingly bad.


50.Informed. The clue “Just as” indicates that the second part of the sentence will need to mirror the first part. Thus, the blank must match the meaning of “provided the Romans with a model.” “Informed” can be used in this way and is the correct answer. Don’t be tricked by “duplicate” (to provide a model isn’t to make an exact copy) or “foresaw” (the remnants of Roman culture didn’t tell the future). Both “curbed” and “hindered” have too strong of a negative spin and do not mirror the first part of the sentence.


51.Enhances. The sentence requires a word that means helps or strengthens—“enhances” is a perfect synonym for strengthen and the correct answer. Don’t fall for “ensures,” which is too extreme. Having a head that can measure spaces is cool, but hardly guarantees the success of a species. “Reproduces” is a word related to success as a species, but does not fit the blank. “Mitigate” means to make less severe, and “inundate” means to overwhelm, neither of which fits in the blank.


52.Guileless, canny. The sentence contrasts the teacher’s “novice” appearance with what he in fact was. The second half of the sentence indicates that he understood the “byzantine” (complicated) power structures and was using the administration “to his advantage.” This suggests that he was quite sharp, making “canny” a perfect fit for blank (ii). “Unseemly” means improper, and there’s no clue in the sentence that suggests his behavior was inappropriate. “Desultory” would mean that the teacher lacked a plan, but his use of the administration would suggest otherwise. Blank (i) describes the word “novice” and helps to explain how the teacher made himself appear: the opposite of “canny.” “Cunning” has a similar meaning to canny and might be selected by someone who misses the contrast between the two blanks. There’s no reason to believe that the teacher was “capricious,” or whimsical. That leaves “guileless,” a synonym for “innocent,” and a perfect fit in this sentence.


53.Irregularities, credible. If the methodologies are “flawed,” then there would be “significant irregularities” in the meta-study. Neither “subtleties” nor “consistencies” fits with the clue “flawed.” If there are “significant irregularities,” then the analysis is “anything but” good. For blank (ii), the best answer with a positive connotation is “credible,” or believable. “Intelligible” is also positive, but does not fit the contrast with the first blank, and “unreliable” is negative.


54.Berserk, recede. There are two major clues about the middle phases of a revolution: transferring power to “less temperate” forces would cause chaos, and a more peaceful period follows the difficult times. Therefore, blank (i) needs a word that means the opposite of peaceful. “Brusque” means short but is not the opposite of peaceful, and “pacific” is a synonym of peaceful and the exact opposite of what the blank requires. That leaves “berserk,” which is the correct answer. The second sentence states that a more peaceful time comes later, so the “excesses” should become more stable. “Metastasize” means to spread, which is the opposite of what the blank requires. “Grow” has the same problem. That leaves the correct answer, “recedes.” If the difficult times “recede,” then a more peaceful time arrives.


55.Parlous. The correct answer must match dangerous—only “parlous” does this, and it is the correct answer. Note that “suicidal” is too extreme and not indicated by the sentence. Both “prudent” (wise) and “providential” (opportune) have the wrong tone for the blank. And “semiotic,” which means related to signs and symbols, is not supported by the sentence.


56.Commercial. The sentence gives two clues about the engineer: she is not interested in making products that match “market needs,” and her work is known more for “its technical brilliance” than for “its ________ potential.” Her work is technically good, then, but does not necessarily match “market” or customer needs; that is, it lacks “commercial” potential. Work that has technical brilliance could very well have lots of “scientific,” “academic,” or possibly even “revolutionary” potential; therefore none of these answer choices can be correct, since they do not offer any contrast. “Ergonomic” is a tempting choice since a brilliant piece of engineering might be quite uncomfortable for its user, but an engineer who lacks interest in developing needed products would not necessarily think to create uncomfortable products.


57.Sangfroid, mercurial. The sentence says that Frederick the Great was known for “his ________ under fire,” but goes on to say that his “equilibrium sometimes failed him.” That is the clue. The blank must mean something like grace or calm. “Sangfroid” (composure) is the best fit. “Intrepidity” (bravery) and “cruelty” do not match the clue. The failed equilibrium and “tirades” are both clues for blank (ii), which describes the way he sometimes behaved with his ministers. “Mercurial” (temperamental) is the best fit. “Fascist” (despotic) and “vainglorious” (boastful) go too far.


58.Paradox, brook. This sentence gives you very little to go on for blank (i); as is often the case, the clue for the first part appears in the second part of the sentence. This second part presents a dilemma indicated by “on the one hand” and “on the other”: “teachers can ill afford to ________ indisputably disruptive behaviors,” but too much strictness can actually promote disruptions. So blank (ii) must be something like “tolerate,” as being tolerant would contradict being “overly strict,” and blank (i) needs a word that indicates a contradiction. Starting with blank (i), “entreaty” means a request, and so doesn’t fit this phrase at all. The “necessity of taking disciplinary action” sounds good in general, but the word “necessity” does not convey the idea of a contradiction. Instead, “paradox,” which means a seemingly self-contradictory situation, is the choice that best communicates the nature of the situation. Moving to blank (ii), “fabricate” means to make up, and “mitigate” means to lessen the impact of something; neither fits the idea of “tolerate.” Here “brook,” which means to tolerate or condone, is the best fit.


59.A stopgap, paragon, perpetuity. The implication of the phrase “a more permanent solution” is that the original building was not permanent: it was “a stopgap,” or a temporary fix. “An ornament” and “a modicum” (a small amount) don’t fit the desired meaning for the first blank. The clue for the second blank is “canonization.” To canonize something literally means to declare to be a saint, but in its figurative sense, it means to hold up as an exemplar or a “paragon.” The third blank gets its clue from “originally,” which indicates that you are looking for an opposite of transient. “In perpetuity” means forever, which fits. “Consecration” (dedication to the sacred) is a theme trap for “canonization,” a religious step to sainthood, but this word can also describe the process by which something comes to be regarded as figuratively saintlike, or as an ideal example. “Chronology” (order in time) is about time, but does not mean lasts forever.


60.Amity, mores. The word “though” indicates that the negotiation did not actually proceed smoothly. The first blank comes after “semblance of,” which indicates an outward appearance, especially one different from the reality. The word “disingenuous” backs up that meaning. You need something positive—the parties are showing false “amity,” or friendliness, out of “a superficial adherence to” (pretense of following) customs or rules—“mores.” The other choices for the first blank, “duplicity” (deliberate deceptiveness) and “solace” (comfort or consolation in sorrow) don’t fit logically with “disingenuous.” Similarly, “truisms” (self-evident claims) and “plaudits” (expressions of praise) would create a nonsensical meaning in the second blank.


61.Elaboration, expatiation. “Eschew” means to avoid or abstain, thus the speaker was unable to resist something that lengthened her presentation. The correct answer, “elaboration,” would lengthen a presentation. “Terseness” means brevity and is a reversal trap, and “precision” also is generally not something that would cause a presentation to become excessively long. For the second blank, the clue is “turned a five-minute policy brief into an hour-long,” making “expatiation,” which means to speak or write at length, the correct choice. Since the second blank must match the general meaning of the first blank, “elaboration,” the answer for the first blank provides another clue. “Distension,” the act of swelling, refers only to a physical swelling. Similarly, “repertory,” a collection of information or examples, doesn’t fit the context either.


62.Cosmopolitan. Because the clue is “no effect,” the blank will oppose championing “economic, political, and even cultural isolationism.” Isolationism is a policy of abstaining from relationships with other countries, so the senator’s upbringing must have been non-isolationist, or worldly. “Cosmopolitan” means worldly and is therefore a good fit. “Opulent” (wealthy), “tendentious” (opinionated), and “liberal” are all theme traps that ignore the contrast between the senator’s upbringing and his views. “Bucolic” refers to an idyllic rural life and does not match the sentence.


63.Protean, quixotic. The first blank needs an idea that contrasts with “concrete proposal.” “Protean” matches nicely. “Oppositional” and “martial” (warlike) don’t contrast with “concrete” and so aren’t correct. For the second blank, you need a word that also represents the idea of not being “concrete,” as well as the idea of being “unlikely to ever come to fruition.” “Quixotic” matches perfectly. “Pragmatic” is the exact opposite, and the sentence does not indicate whether the idea is “unorthodox” (against tradition).


64.An arcadian, hinterland, spartan. A “refuge” is positive; you also have the clue “quiet and rural.” “Arcadian” conveys a positive view of rural life. “Parochial” (provincial) has a similar meaning except that it is somewhat negative. “Squalid” (dirty and run down) is even worse. The clue for the second blank is the word “but,” which indicates that the “well-heeled” (wealthy) visitors see the region very differently; the sentence requires a negative version of the first blank. “Hinterland” conveys the idea of a backwater or an undesirable place. Neither “asylum” (place of refuge) nor “utopia” (a perfect place) has the required negative spin. The wealthy visitors see life there as “unpleasantly _________,” so a negative word is needed. The only choice that can be negative is “spartan” (simple, austere). “Tony” (posh, stylish) and “rational” are both positive.


65.Debauchery, licentious. This sentence features a somewhat complex structure. “Though” indicates that both blanks will oppose “prudish,” since her stories are very different than her life. “Debauchery” (referring to sexual excess) fits the first blank, and “licentious” (lewd or sexually unrestrained) fits the second blank. “Propriety” (proper behavior) and “moralizing” are reversal traps, as they are aligned with prudishness. “Dissent” and “perspicacious” (perceptive) do not match the meaning or structure.


66.Regressive, an auxiliary. Given the lengthy explanation of the club’s history, the elderly male member’s suggestion was backwards, or hopelessly old-fashioned. Only “regressive” matches. “Rustic” (rural) and “prudish” (excessively proper or modest) both add something to the description of the old man that is not in the original sentence. In the second blank, you want something that reflects the idea “play bridge and drink tea without having to worry about serious issues.” “Auxiliary” has this sense of secondary or on the side. The word “incendiary” (flammable) is almost an opposite of the desired meeting. Although the proposed organization might be “hierarchical,” there is nothing in the sentence that suggests that.


67.A deft, whet. “Although” indicates that the first blank must be something positive or interesting to the students. Only “deft” (skillful) works. “Insipid” (uninteresting) and “effete” (weak or ineffectual) are not positive ways of describing a politician. Despite the fact that the historical figure was so accomplished, he also had old-fashioned views; as a result, the professor hasn’t been able to get the students interested in him. “Whet,” which means stimulate, is the only word that fits. “Tout” is a bit of a trap—the professor could “tout” the historical figure as an interesting thing to learn about, but she can’t “tout” someone’s interest. Similarly, “accrue” means accumulate over time, which doesn’t fit here; although interest (money earned on a loan or bank deposit) can be accumulated over time, people’s interest in a topic is not said to accumulate.


68.Acerbic. The comedian has a “caustic” (critical or sarcastic) sense of humor. Also, she’s polarizing, as some people adore her, and some hate, or “abhor,” her. A good word for the blank would mean something like sharp or biting or controversial. “Acerbic” (sharp, sarcastic, or candid in an almost bitter way) is the best choice. “Ample” (big or large) doesn’t explain why her wit is so controversial. “Anachronistic” means out of place in time, and “abstruse” means difficult to understand. An “astounding” sense of humor would probably cause everyone to feel the same way about her and so can be eliminated.


69.Halcyon. The opposition structure is complicated. “Contrary” followed by “anything but” functions as a double negative, so the blank will agree with the Western-held assumptions about mindfulness. Additionally, a semicolon followed by “while” indicates that the blank will agree with “calm the mind” and oppose “restlessness and doubt.” “Mystical,” then, does not match the meaning and might be considered a theme trap. “Beneficial” and “benign” both add a negative spin not justified by the rest of the sentence. “Orthodox” also does not match the meaning. That leaves “halcyon” (calm or joyful) as the best choice.


70.An anemic. While anemia is a medical condition, “anemic” as a metaphor means weak or lacking vitality; the job market is weak, so young people are choosing graduate school instead. “Myopia,” or nearsightedness, also makes a good metaphor, but describes people and their decisions. The job market hasn’t been “botched” (who botched it?), and it isn’t “booming” (the sentence says that there aren’t many jobs available). “Educated” is a trap answer; the young people are going to graduate school because the job market is bad, not because the job market is “educated.”


71.Beholden to, obligations. “Despite” the fact that the politician was in favor of “campaign finance reform,” he was “__________ corporate interests.” A clear contrast is indicated, but it’s tough to fill in this first blank with this information. Start with the second. His opponent is relatively new to politics so he doesn’t have as many campaign promises, or “obligations,” to “make good on.” It isn’t possible to make good on “dilemmas” or on “affiliations.” In contrast to the new politician, then, the “career politician” must have had more obligations; in other words, he is “more beholden to corporate interests.” If he were “leery of” these interests, then the word “despite” couldn’t be used at the beginning of the sentence. The sentence doesn’t contain any information to suggest that he is “apathetic about,” or lacking interest in, “corporate interests.”


72.Diffident, quietly. The initial “Far too” indicates that the first blank will oppose “limelight” (an old theatrical expression meaning to be in the spotlight) and agree with “unassuming” (shy). “Diffident” (shy or reserved) is a good match and is also a clue for the second blank, which must match the first one; “quietly” is the best choice. Neither “implicitly” nor “skeptically” matches the meaning of shy or reserved. “Ideologically” is a theme trap that ignores the objective clues. “Apathetic” (unenergetic, indifferent) is also a spin trap.


73.Groaning. You might feel stuck if the idiom “groan under the strain” isn’t familiar to you, but process of elimination can still work here. The part of the sentence following the colon must be equivalent—either an example or a restatement—to the part before it. The word that fills the blank must make “city infrastructure is already ____________ under the strain of excess auto traffic” a good reason to create bike lanes in the city. Since bike lanes would help to relieve the traffic burden, the blank must mean something like struggling. “Groaning,” which is something that a person struggling with a heavy load would do, is used figuratively here. The words “seething” (very angry), “waiting,” “baying” (yelling loudly), and “intensifying” don’t create an image of a person struggling under a heavy load the way that “groaning” does and so are not correct.


74.Heterodox, iconoclasm, abolition. The first two blanks both describe the professor’s tendencies and should have a similar meaning. The clue for those blanks follows the colon: “she persistently challenged the academic methods and the institutional procedures of her department and of the university as a whole.” For the first blank, “intellectual” is a theme trap. “Illiberal” means narrow-minded and does not describe someone who challenges institutions and established procedures. “Heterodox” (unorthodox or not in accordance with established thought) is a good match. Similarly, for the second blank, “iconoclasm” (opposing established beliefs) fits, while “intelligence” is another theme trap and “theories” does not match the desired meaning. The last blank describes arguing for doing something to “inherently elitist institutions” to democratize education. Since getting rid of universities entirely would have that effect, “abolition” is a great fit. “Enshrinement” (to cherish as sacred) is a reversal trap and “mitigation” (make less severe) is too mild to match the language “going so far as.”


75.Belies. The phrase “apparent simplicity” is the clue that indicates that there is more to coffee than meets the eye. This sentence sets up a contrast between the phrases (“apparent simplicity” and “dizzying number of hours of toil”) that are both used to describe coffee; the word that fills the blank must be a contrast word. “Confirms,” “furnishes,” and “fosters” (supports) are all incorrect because those words would be used to connect two phrases that agreed with each other. “Redresses” (corrects or rights a wrong) could be used for an opposite connection but doesn’t fit here because there is no sense that the “simplicity” is correcting all those hours of work. “Belies” (to be at odds with) is most appropriate here.


76.Unkempt, surprisingly deliberate. The tricky blank structure masks what is ultimately a not-so-tricky word relationship: that of opposites. The clues for this relationship are the words “notwithstanding” and “if.” The first part of the sentence says that in spite of the clutter of tools lying about, the studio was orderly. The part after the semicolon talks about the décor, and the idiomatic structure “if X, Y” is used to show a similar contrast. The first blank must match “cluttered,” and the second must match “orderly.” The best match for cluttered is “unkempt,” and the better match for orderly is “surprisingly deliberate,” because something that is deliberate is not random and so must have a certain order to it. The words “dire” (dreadful or grim) and “arduous” (difficult) may describe the way some people feel about clutter, but do not describe a cluttered décor. Similarly, “unsophisticated” (simple) and “callous” (uncaring) do not describe an orderly décor.


77.Heralded, appropriated. The phrase “equally public” provides a clue that the legislator’s approval was also highly publicized, or “heralded.” “Ratified,” which means officially approved, would be redundant in this context. The sentence does not indicate that anyone “scorned” (rejected or was disdainful of) the approval. The sentence doesn’t provide much of a clue for the second blank. When this happens, only one answer choice will make sense (and usually that correct choice won’t add much to the sentence), while the other, incorrect answer choices will drastically change the meaning. Here, “appropriated,” which means allocated or assigned, fits nicely and doesn’t add any unintended meaning. Neither “stolen” nor “exacerbated” (made worse) is an appropriate description of funding that was approved by a legislature.


78.Benign, decamped. The first blank hinges on the meaning of the word “purportedly,” which means pretending to be, or masquerading as. The sentence implies that the bureau is pretending to be harmless, or “benign.” It wouldn’t make sense to say that the bureau pretended that its “inquisitions” (inquiries or questionings) were “suspicious”; that word is an opposite trap. The sentence does not suggest that the inquisitions were “risqué” (sexually suggestive). The second blank requires a word that means to leave hurriedly; “decamped” fits. The word “immigrated,” though close in meaning, isn’t quite right because it means to arrive at a country or region rather than to leave from it. “Immigrated” is especially tricky because it sounds very similar to the word emigrated, which does mean to leave a country or region and move to another one. “Pandered,” which means indulged another’s desire, is not appropriate in this sentence.


79.Congenial, erode. When a relationship goes from something to “chilly at best,” the relationship used to be warm or cordial: “congenial” fits best for the first blank. “Peaceful” doesn’t go far enough, and “reverent” goes too far. If the relationship has gotten worse, then there has been an undermining, or an eroding, of mutual trust. To “bolster” something is to support or to improve it, so this choice is opposite to the desired meaning. “Fester” (not improve and likely get worse over time) is a negative word; something positive, such as “trust,” cannot be said to “fester.” Only something negative, such as a wound or resentment, can be described as “festering.”


80.Bogus. “In an age of near-instantaneous fact checking,” politicians need to be careful about what they say, “as” (which means “because” here) “any fictitious claim” will be proved fictitious or false. “Bogus” (not genuine) is an excellent match. “Genuine” is a reversal trap. “Dull” in this context means boring, which, although negative, is not the desired meaning. Neither “unnecessary” nor “unfamiliar” fits the desired meaning.


81.Tacky, discerning, tactically. The judgmental mind behind this sentence finds his grandmother’s décor “vulgar,” so the first blank should be a synonym for that. “Tacky” fits the bill. Neither “vitreous” (made from glass) or “grizzled” (having gray hair) can reasonably describe the grandmother’s decorating scheme. The second blank should be something like appropriate: it wouldn’t be appropriate to tell his grandma what he really thinks. Neither “rancorous” (malevolent) or “doting” (to lavish attention on) fits this meaning. “Discerning,” meaning having or showing good judgment or shrewd, fits perfectly. For the third blank, you need a word that describes being nice to someone in order to get a good birthday present. “Amicable” doesn’t capture the strategy of the idea, but “duplicitous” is way too negative. It means deceitful, which is not really an apt description for the act of refraining from telling your grandma that she has terrible taste. “Tactically,” meaning by way of showing adroit planning, is correct.


82.Warded off, mutiny. The second half of the sentence says that the crew became frustrated and “decided to take matters into their own hands,” implying that they took over the ship. “Mutiny” fits perfectly. (A “sea change” is a profound transformation, while “helmsmanship” relates to a helmsman, a person who steers a ship.) For the first blank, you need a word implying that the captain tried to fight off the mutiny. “Dissuading” is tempting, but it is something you can do only to people (e.g., I dissuaded the pirates from mutinying). “Warded off” means fended off or averted, which is perfect here. “Depreciated” (to cause to decrease in value) has the wrong meaning.
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